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KIZUKURI Ver 5.35
SN : 14-0412



1.2.

1.3.

~No O WNE

77.00 (m)
74.00 (m)

(1.0)
20.0 (kN/m?)

0.200 (m)



(N/mm?)
(N/mm?)
c t b [ cv b
E50 19.20 14.40 24.00 1.80 6.00 5000
E70 18.00 13.20 22.20 2.10 7.80 7000
19.20 14.70 25.20 2.10 6.00 8000
17.70 13.50 22.20 1.80 6.00 7000
E95-F270 23.60 18.90 27.00 3.00 6.00 9500
E120-F330 25.90 22.40 33.00 3.60 9.00 12000
CA E120KD 26.40 19.80 33.00 2.10 7.80 12000
(N/mm?) (N/mm?)
1.1Fc 1.1Ft 1.1Fb 1.1Fs 2Fc 2Ft 2Fb 2Fs
3 3 3 3 3 3 3 3
1.3
0.8
(N/mm?) (N/mm?)
fa fa
rfc ft wft rfc ft wft
fc fs fc fs
SD295A 195 195 195 1.2 1.8 295 295 295 1.8 2.7
SR235 155 155 155 0.7 0.7 235 235 235 1.05 1.05
Fc=18 6 - 0.6 - - 12 - 0.9 - -
SD295A 195 195 195 1.4 2.1 295 295 295 2.1 3.15
SR235 155 155 155 0.7 0.7 235 235 235 1.05 1.05
Fc=21 7 - 0.7 - - 14 - 1.05 - -



渡邊豪巳
長方形


kN

C-120 1.27 1.18 1.08
C-150 1.27 1.18 1.08
CP L 4.31 3.87 3.38 10-ZN65
CP T 4.31 3.87 3.38 10-ZN65
VP 5.02 4.55 3.92 8-ZN90
SB F,SB F2 5.69 5.20 5.00 1-M12
SB E,SB E2 5.69 5.20 5.00 1-M12
HD-B10 11.38 10.40 10.00 2-M12
S-HD10 2-L812
HD-B15 17.06 15.59 15.00 3-M12
S-HD15 3-LS12
HD-B20 22.75 20.79 20.01 4-M12
S-HD20 4-LS12
HD-B25 28.44 25.99 25.01 5-M12
S-HD25 5-LS12
HD-N 5 7.53 6.83 5.88 6-ZN90
HD-N10 12.55 11.38 9.81 10-ZN90
HD-N15 20.08 18.20 15.69 16-ZN90
HD-N20 22.59 20.48 17.65 20-ZN90
HD-N25 29.37 26.62 22.95 26-ZN90




I
NGNS

600
200

12mm

800 (N/m?)

250

250 (N/m?)

1170 (N/m?)

300
200
200

700 (N/m?)

250
200

450 (N/m?)

700
150
150

1000 (N/m?)

700
150
150

12mm

1000 (N/m?)

350
150

12mm

500 (N/m2)

350
150

500 (N/m2)

2400 (N/m?)

920 (N/m?)



1.4.2. (N/m?)
1170 0 1170 700 1800 2500 450 1800 2250
1170 0 1170 700 1300 2000 450 1300 1750
1170 0 1170 700 600 1300 450 600 1050
1170 600 1770 700 1300 2000 450 1300 1750
1170 0 1170 700 600 1300 450 600 1050
1170 0 1170 700 600 1300 450 600 1050
2400 1800 4200
2400 1300 3700
2400 600 3000
2400 1300 3700
2400 600 3000
2400 600 3000
1.4.3.
: 30 (cm)
1 20 (N/cm/m?)
3 : 0.00 7/ 10 =0°
pb = {fgggf175i§57
600 (N/m?)

130 < 20 < b -

0 (N/m?)




1.4.4.

0

5 (m)
450 (m)

0.20

34 (m/s)
8.415 (m)
6.340 (m)

(8.415 + 6.340) / 2

max(  ,

1.7 ;< [
0.

>
6 x<

b)
=/ ]a

< 02 %< 1.2
(m

1.0

( b/ )20(

( / )20(

(m

7.

378

1.000

.965

0.856

.115

0.856

.200

.085

.085

.688

.085

RlR,r|lo|lrRr]|RL,r]|F

.085

1.4.5.

7.378
1.00

0.8 z-(-0.4)
0.8 z-(-0.4)
0.8 z-(-0.4)

7
2
7
0
1

.378 (m)
.500

.378 (m)
.747

.395

1161 (N/m?)

(0.2-0.0)/(30-10) > (28.811-10)-(-0.5)

0.8 z-(-0.4)
0.8 z-(-0.4)

(m

obooboz2000

0.20

>< 1.25 = 0.25

1.00
0.03

= 0.03 =< 7.378 =

0.221


渡邊豪巳
長方形

渡邊豪巳
テキストボックス
耐震等級2の計算
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1.5.

X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12

L1 | \ \ \ \ \ \ \ \ |
1000 500 500 1000 1000 1000 1000 1000 1000 1000 1000 1000
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1000

1000

500
500
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500
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2.
2.1.
Y8 » 3.2 o 3.2, o o o o 3.2,
Y7 o @) @)
Y6 o e} le] 0 o e}
y5.5
Y5 o] @) o )
3.2 1.9 1.9
5.5
Y4
Y3 o
Y2
3.2
V1 3.2 o 3.2 3.2, o o 3.2 3.2,
X1 X2 X3 X4 X5 X6 X7 X8 X9
aili Ld = Saili i(axili>=<1960) (N)
Y1 3.2 > 6.000 19.200 37632
Y8 3.2 > 5.000 16.000 31360
35.200 68992
aili Ld = Saili i(axili>=<1960) (N)
X1 3.2 > 3.000 9.600 18816
X4 1.9 > 4.000 7.600 14896
X8 1.9 > 4.000 7.600 14896
X12 3.2 > 4.000 12.800 25088
37.600 73696

X10

X11

X12

10



8 o 5.0, 5.0 o o o 5.0
4.0 4.0
Y7 ¢) o
4.0
Y6 o 4.0
4.0
y5.5
Y5 3.0 o o o
3.2 2.4 2.4
5.5
Y4
Y3 o
Y2
3.2
V1 5.0 o 3.2 5.0, o 3.2 5.0,
X1 X2 X4 X5 X6 X7 X8 X9
aili Ld = Zaili i (i li><1960) (N)
Y1 3.2 > 2.000 26.400 51744
5.0 > 4.000
Y5 5.0 > 1.000 5.000 9800
Y6 4.0 > 1.000 4.000 7840
Y8 5.0 > 4.000 20.000 39200
55.400 108584
aili Ld = Zaili i (i li><1960) (N)
X1 3.2 > 2.000 6.400 12544
X4 2.4 > 4.000 17.600 34496
4.0 > 2.000
X7 4.0 > 1.000 4.000 7840
X8 2.4 > 4.000 13.600 26656
4.0 > 1.000
X12 3.2 > 4.000 12.800 25088
54.400 106624

X10

o 5.0,
X11 X12

11



2.2. 46
2.2.1.
(1.0)
m? m/m? m
77.00 0.210 1.0 16.170
74.00 0.330 1.0 24.420
2.2.2.
w (m?) = w(m) > w > 0.50
18.03 18.03 9.01
21.24 39.27 19.63
w (m?) = w(m) > w > 0.50
40.58 40.58 20.29
33.04 73.62 36.81
2.2.3
Ld/Ln Ld/Ln Ld/Ln Ld/Ln
Ld 35.20 37.60 35.20 37.60
Ln 9.01 3.90] 20.29 1.85| 16.17 2.18] 16.17 2.33
Ld 55.40 54.40 55.40 54.40
Ln 19.63 2.82] 36.81 1.48| 24.42 2.27] 24.42 2.23
2.2.4. 1352
y(m) y(m) y(m) X+ y ex(m) ex
3.462 3.182 0.280 330825600 5.654 0.050
3.586 3.281 0.306 378555800 4.861 0.063
3.462 3.182 0.280 330825600 5.654 0.050
3.586 3.264 0.322 377377000 4.853 0.066
x(m) x(m) x(m) X+ y ey(m) ey
5.485 5.959 0.474 330825600 5.562 0.085
5.572 5.750 0.178 378555800 4.865 0.037
5.485 5.959 0.474 330825600 5.562 0.085
5.572 5.750 0.178 377377000 4.858 0.037

o O o o
w W w w

o O o o
w W w w

OK
OK
OK
OK

OK
OK
OK
OK



2.3.
8 » 3.2 o 3.2, o o o o 3.2,
Y7 o @) @)
Y6 o e} o 0 o )
y5.5
Y5 o] @) o )
3.2 1.9 1.9
5.5
Y4
Y3 o
Y2
3.2
V1 3.2 o 3.2 3.2, o o 3.2 3.2,
X1 X2 X3 X4 X5 X6 X7 X8 X9
)
aili Ld = Saili i(axili>=<1960) (N)
Y1 3.2 > 6.000 19.200 37632
Y8 3.2 > 5.000 16.000 31360
35.200 68992
(<)
aili Ld = Saili i(axili>=<1960) (N)
Y1 3.2 > 6.000 19.200 37632
Y8 3.2 > 5.000 16.000 31360
35.200 68992
(r)
aili Ld = Saili i(axili>=<1960) (N)
X1 3.2 > 3.000 9.600 18816
X4 1.9 > 4.000 7.600 14896
X8 1.9 > 4.000 7.600 14896
X12 3.2 > 4.000 12.800 25088
37.600 73696

X10

X11

X12
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L)
aili Ld = Zaili i (i 1i><1960) (N)
X1 3.2 > 3.000 9.600 18816
X4 1.9 > 4.000 7.600 14896
X8 1.9 > 4.000 7.600 14896
X12 3.2 = 4.000 12.800 25088
37.600 73696
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V8 ~ 5.0, 5.0 5 5 o 5.0 5
MX 4.0 K 4 0=
Y7 ¢) o
K 4.0
Y6 o 4.0
= (4.0
y5-5 4.7 K
Y5 3.0 o o o
3.2—/ 2.4 2.4
5.5
Y4
Y3 @)
Y2
3.2
4.7 5.0 4.7
V1 5.0 o 3.2 4.7: o 3.2 5.0:
—1 T —1
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10
)
aili Ld = Zaili i(aili><1960) (N)
Y1 3.2 > 2.000 25.800 50568
4.7 > 2.000
5.0 > 2.000
Y5 4.7 > 1.000 4.700 9212
Y6 4.0 > 1.000 4.000 7840
Y8 5.0 > 4.000 20.000 39200
54.500 106820
()
aili Ld = Zaili i(aili><1960) (N)
Y1 3.2 > 2.000 25.800 50568
4.7 > 2.000
5.0 > 2.000
Y5 5.0 > 1.000 5.000 9800
Y6 4.0 > 1.000 4.000 7840
Y8 4.7 > 1.000 19.700 38612
5.0 > 3.000
54.500 106820

X12
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(r)
aili Ld = Zaili i (i 1i><1960) (N)
X1 3.2 = 2.000 6.400 12544
X4 2.4 > 4.000 17.600 34496
4.0 = 2.000
X7 4.0 > 1.000 4.000 7840
X8 2.4 > 4.000 13.600 26656
4.0 > 1.000
X12 3.2 = 4.000 12.800 25088
54.400 106624
(L)
aili Ld = Zaili i (i 1i><1960) (N)
X1 3.2 = 2.000 6.400 12544
X4 2.4 > 4.000 17.600 34496
4.0 > 2.000
X7 4.0 > 1.000 4.000 7840
X8 2.4 > 4.000 13.600 26656
4.0 > 1.000
X12 3.2 = 4.000 12.800 25088
54.400 106624
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2.4.
0(kN) i (kN) > i(kN)
920 95.20 87.58
(920) (87.58)
250 77.00 19.25
1000 36.00 < 1.38 49.50
500 10.00 >< 1.38 6.88 163.21 163.21
(163.21) | (163.21)
1000 36.00 > 1.38 49.50
500 10.00 > 1.38 6.88
1300 72.00 93.60
(2000) (144.00)
3000 4.00 12.00
(3700) (14.80)
1000 39.00 > 1.48 57.53
500 19.00 > 1.48 14.01
9.60 243.11 406.32
(296.31) | (459.52)
1000 39.00 > 1.48 57.53
500 19.00 > 1.48 14.01 71.54 477.86
(71.54) | (531.06)
2.4.1. 1899
=1.00
i = 0= < i
WiCk\N) [ =wi(k\N) [ i i i i (kN) >Pi(kN) eQi/=Pi
i
163.209 | 163.209[ 0.402| 1.313[0.3282| 53.569| - 68.99 0.776 1.0 OK
0.3282 - 68.99 0.776 1.0 OK
46 68.99 0.776
T 73.70 0.727 1.0 OK
1 73.70 0.727 1.0 OK
46 73.70 0.727
243.113[ 406.322 [ 1.000| 1.000[ 0.2500[ 101.580[ - 106.82 0.951 1.0 OK
0.1975 . 106.82 0.951 1.0 OK
46| 108.58 0.936
T 106.62 0.953 1.0 OK
1 106.62 0.953 1.0 OK
46| 106.62 0.953

17



2.4.2.
= 1161 (N/m?)
>C Aw wQ wQi > wQi > Pi > wQi
() (kN) (kN) (kN) (kN) />Pi
- 1.20 7.83] 10.91
1.08| 10.20[ 12.85 23.76 23.76 68.99 0.344
1.08 9.72| 12.25
1.08| 11.52] 14.51 26.76 50.52 106.82 0.473
- 1.20 7.83] 10.91
1.08| 10.20[ 12.85 23.76 23.76 68.99 0.344
1.08 9.72| 12.25
1.08| 11.52] 14.51 26.76 50.52 106.82 0.473
T 0.69] 24.69| 19.74
1.08| 15.89] 20.02 39.75 39.75 73.70 0.539
1.08| 15.12] 19.05
1.08| 17.92| 22.58 41.63 81.38 106.62 0.763
1 0.69] 24.69| 19.74
1.08| 15.89] 20.02 39.75 39.75 73.70 0.539
1.08| 15.12] 19.05
1.08| 17.92| 22.58 41.63 81.38 106.62 0.763

OK

OK

OK

OK

OK

OK

OK

OK
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2.5.
2.5.1.
(m
I (cm*) (kN)
E (N/mm?) (cm)
X1 Y5 -Y8 Y6 Y7
37325 0.000| -17.248
5000 | -0.35942 | -0.41076
(N) | (N/rad) S1 (cm) S2 (cm) (N/rad)
X1 Y7 -Y8 3.2 6272 940800 | -0.411| 0.000| 0.000[ 0.000 582128 0.619
(€D
I (cm*) (kN)
E (N/mm?) (cm)
X1 Y5 -Y8 Y6 Y7
37325 0.000 17.248
5000 | 0.35942| 0.41076
(N) | (N/rad) S1 (cm) S2 (cm) (N/rad)
X1 Y7 -Y8 3.2 6272 940800 0.411| 0.000| 0.000[ 0.000 582128 0.619
2.5.2.
o Ii (m)| Ka (N/rad) C Ka"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
Y1 X1 - X2 3.2| 1.000 940800 1.000 940800 6.272
X3 - X4 3.2| 1.000 940800 1.000 940800 6.272
X4 - X5 3.2| 1.000 940800 1.000 940800 6.272
X7 - X8 3.2| 1.000 940800 1.000 940800 6.272
X8 - X9 3.2| 1.000 940800 1.000 940800 6.272
X11 - X12 3.2| 1.000 940800 1.000 940800 5644800 6.272 37.632
Y8 X1 - X2 3.2| 1.000 940800 1.000 940800 6.272
X3 -X4 3.2| 1.000 940800 1.000 940800 6.272
X8 - X9 3.2| 1.000 940800 1.000 940800 6.272
X10 - X11 3.2| 1.000 940800 1.000 940800 6.272
X11 - X12 3.2| 1.000 940800 1.000 940800 4704000 6.272 31.360
10348800 68.992
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o Ii (m) | Ka (N/rad) C Ka"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
Y1 X1 X2 3.2] 1.000 940800 1.000 940800 6.272
X3 X4 3.2] 1.000 940800 1.000 940800 6.272
X4 X5 3.2] 1.000 940800 1.000 940800 6.272
X7 X8 3.2] 1.000 940800 1.000 940800 6.272
X8 X9 3.2] 1.000 940800 1.000 940800 6.272
X11 X12 3.2] 1.000 940800 1.000 940800 5644800 6.272 37.632
Y8 X1 X2 3.2] 1.000 940800 1.000 940800 6.272
X3 X4 3.2] 1.000 940800 1.000 940800 6.272
X8 X9 3.2] 1.000 940800 1.000 940800 6.272
X10 X11 3.2] 1.000 940800 1.000 940800 6.272
X11 X12 3.2] 1.000 940800 1.000 940800 4704000 6.272 31.360
10348800 68.992
T
o Ii (m)| Ka (N/rad) C Ka"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
X1 Y1 Y2 3.2] 1.000 940800 1.000 940800 6.272
Y4 Y5 3.2] 1.000 940800 1.000 940800 6.272
Y7 Y8 3.2] 1.000 940800 0.619 582128 2463728 6.272 18.816
X4 Y1 Y5 1.9 4.000 2234400 1.000 2234400 2234400 14.896 14.896
X8 Y1 Y5 1.9 4.000 2234400 1.000 2234400 2234400 14.896 14.896
X12 Y2 Y3 3.2] 1.000 940800 1.000 940800 6.272
Y3 Y4 3.2] 1.000 940800 1.000 940800 6.272
Y5 Y6 3.2] 1.000 940800 1.000 940800 6.272
Y7 Y8 3.2] 1.000 940800 1.000 940800 3763200 6.272 25.088
10695730 73.696
il
o Ii (m) | Ka (N/rad) C Ka*"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
X1 Y1 Y2 3.2 1.000 940800 1.000 940800 6.272
Y4 Y5 3.2 1.000 940800 1.000 940800 6.272
Y7 Y8 3.2] 1.000 940800 0.619 582128 2463728 6.272 18.816
X4 Y1 Y5 1.9 4.000 2234400 1.000 2234400 2234400 14.896 14.896
X8 Y1 Y5 1.9 4.000 2234400 1.000 2234400 2234400 14.896 14.896
X12 Y2 Y3 3.2] 1.000 940800 1.000 940800 6.272
Y3 Y4 3.2 1.000 940800 1.000 940800 6.272
Y5 Y6 3.2 1.000 940800 1.000 940800 6.272
Y7 Y8 3.2] 1.000 940800 1.000 940800 3763200 6.272 25.088
10695730 73.696
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o Ii (m) | Ka (N/rad) C Ka"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
Y1 X1 X2 4.7 1.000 1381800 1.000 1381800 9.212
X3 X4 3.2] 1.000 940800 1.000 940800 6.272
X4 X5 5.0] 1.000 1470000 1.000 1470000 9.800
X7 X8 3.2] 1.000 940800 1.000 940800 6.272
X8 X9 4.7 1.000 1381800 1.000 1381800 9.212
X11 X12 5.0 1.000 1470000 1.000 1470000 7585200 9.800 50.568
Y5 X1 X2 4.7 1.000 1381800 1.000 1381800 1381800 9.212 9.212
Y6 X6 X7 4.0] 1.000 1176000 1.000 1176000 1176000 7.840 7.840
Y8 X1 X2 5.0 1.000 1470000 1.000 1470000 9.800
X3 X4 5.0 1.000 1470000 1.000 1470000 9.800
X8 X9 5.0 1.000 1470000 1.000 1470000 9.800
X11 X12 5.0 1.000 1470000 1.000 1470000 5880000 9.800 39.200
16023000 106.820
o Ii (m)| Ka (N/rad) C Ka"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
Y1 X1 X2 5.0 1.000 1470000 1.000 1470000 9.800
X3 X4 3.2] 1.000 940800 1.000 940800 6.272
X4 X5 4.7 1.000 1381800 1.000 1381800 9.212
X7 X8 3.2] 1.000 940800 1.000 940800 6.272
X8 X9 5.0 1.000 1470000 1.000 1470000 9.800
X11 X12 4.7 1.000 1381800 1.000 1381800 7585200 9.212 50.568
Y5 X1 X2 5.0 1.000 1470000 1.000 1470000 1470000 9.800 9.800
Y6 X6 X7 4.0 1.000 1176000 1.000 1176000 1176000 7.840 7.840
Y8 X1 X2 5.0 1.000 1470000 1.000 1470000 9.800
X3 X4 5.0 1.000 1470000 1.000 1470000 9.800
X8 X9 5.0 1.000 1470000 1.000 1470000 9.800
X11 X12 4.7 1.000 1381800 1.000 1381800 5791800 9.212 38.612
16023000 106.820
T
o Ii (m) | Ka (N/rad) C Ka"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
X1 Y1 Y2 3.2 1.000 940800 1.000 940800 6.272
Y4 Y5 3.2] 1.000 940800 1.000 940800 1881600 6.272 12.544
X4 Y1 Y5 2.4 4.000 2822400 1.000 2822400 18.816
Y6 Y7 4.0 1.000 1176000 1.000 1176000 7.840
Y7 Y8 4.0 1.000 1176000 1.000 1176000 5174400 7.840 34.496
X7 Y5 Y6 4.0 1.000 1176000 1.000 1176000 1176000 7.840 7.840
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o Ii (m) | Ka (N/rad) C Ka"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
X8 Y1 Y5 2.4 4.000 2822400 1.000 2822400 18.816
Y7 Y8 4.0 1.000 1176000 1.000 1176000 3998400 7.840 26.656
X12 Y2 Y3 3.2] 1.000 940800 1.000 940800 6.272
Y3 Y4 3.2] 1.000 940800 1.000 940800 6.272
Y5 Y6 3.2] 1.000 940800 1.000 940800 6.272
Y7 Y8 3.2] 1.000 940800 1.000 940800 3763200 6.272 25.088
15993600 106.624
L
o Ii (m) | Ka (N/rad) C Ka"(N/rad) | Di (N/rad) | Pa (kN) | =Pa(kN)
X1 Y1 Y2 3.2] 1.000 940800 1.000 940800 6.272
Y4 Y5 3.2] 1.000 940800 1.000 940800 1881600 6.272 12.544
X4 Y1 Y5 2.4 4.000 2822400 1.000 2822400 18.816
Y6 Y7 4.0 1.000 1176000 1.000 1176000 7.840
Y7 Y8 4.0 1.000 1176000 1.000 1176000 5174400 7.840 34.496
X7 Y5 Y6 4.0 1.000 1176000 1.000 1176000 1176000 7.840 7.840
X8 Y1 Y5 2.4 4.000 2822400 1.000 2822400 18.816
Y7 Y8 4.0 1.000 1176000 1.000 1176000 3998400 7.840 26.656
X12 Y2 Y3 3.2] 1.000 940800 1.000 940800 6.272
Y3 Y4 3.2] 1.000 940800 1.000 940800 6.272
Y5 Y6 3.2] 1.000 940800 1.000 940800 6.272
Y7 Y8 3.2] 1.000 940800 1.000 940800 3763200 6.272 25.088
15993600 106.624
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2.5.3.
Lyi (m) (N/m2) (><m) , (2) WioCkN) | Wi(kN) Lyi Wi (kN m)
Y1 0.000 920 5.950 5.474
1000 | 11.000 > 1.38 15.125 20.599 0.000
2.000 920 [ 47.600 43.792
250 | 44.000 11.000
1000 8.000 = 1.38 11.000
500 8.000 = 1.38 5.500 71.292 142.584
Y5 4.000 500 1.000 >< 1.38 0.688 0.688 2.750
4.500 920 [ 11.900 10.948
250 | 11.000 2.750
1000 2.000 = 1.38 2.750 16.448 74.016
Y6 5.000
6.000 920 [ 23.800 21.896
250 | 22.000 5.500
1000 4.000 >< 1.38 5.500
500 1.000 > 1.38 0.688 33.584 201.501
Y8 7.000 920 5.950 5.474
1000 | 11.000 > 1.38 15.125 20.599 144.193
163.209 565.044
ey = =>(Lyi Wi) =>Wi = 565.044  163.209 = 3.462(m)
T,41
Lxi () (N/m2) (n><m) , (m2) WioCkN) | Wi(kN) Lxi Wi (kN m)
X1 0.000 920 3.600 3.312
1000 7.000 =< 1.38 9.625 12.937 0.000
1.500 920 [ 24.000 22.080
250 | 21.000 5.250
1000 6.000 =< 1.38 8.250 35.580 53.370
X4 3.000 500 4.000 >< 1.38 2.750 2.750 8.250
4.500 920 [ 24.000 22.080
250 | 21.000 5.250
1000 6.000 =< 1.38 8.250
500 1.000 > 1.38 0.688 36.268 163.204
X7 6.000
6.500 920 8.000 7.360
250 7.000 1.750
1000 2.000 =< 1.38 2.750 11.860 77.090
X8 7.000 500 5.000 =< 1.38 3.438 3.438 24.063
9.000 920 [ 32.000 29.440
250 | 28.000 7.000
1000 8.000 =< 1.38 11.000 47.440 426.960
x12 [ 11.000 920 3.600 3.312
1000 7.000 =< 1.38 9.625 12.937 142.307
163.209 895.243

ex = > (Lxi

Wi) =>Wi = 895.243

163.209 = 5.485(m)
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Lyi(m) (N/m2) (m><m) , (2) WioCkN) | Wi(kN) Lyi Wi (kN m)
Y1 0.000 1000 | 11.000 > 1.38 15.125
1000 | 11.000 > 1.48 16.225 31.350 0.000
2.000 1000 8.000 > 1.38 11.000
500 8.000 > 1.38 5.500
1300 |  44.000 57.200
1000 8.000 > 1.48 11.800
500 8.000 > 1.48 5.900 91.400 182.800
Y5 4.000 500 1.000 > 1.38 0.688
1000 3.000 = 1.48 4.425
500 2.000 = 1.48 1.475 6.588 26.350
4.500 1000 2.000 = 1.38 2.750
1300 | 10.000 13.000
1000 2.000 = 1.48 2.950
500 2.000 > 1.48 1.475 20.175 90.788
Y6 5.000 500 1.000 > 1.48 0.738 0.738 3.688
6.000 1000 4.000 >< 1.38 5.500
500 1.000 >< 1.38 0.688
1300 | 18.000 23.400
3000 4.000 12.000
1000 4.000 >< 1.48 5.900
500 6.000 =< 1.48 4.425
9.600 61.513 369.075
Y8 7.000 1000 | 11.000 x< 1.38 15.125
1000 | 11.000 > 1.48 16.225 31.350 219.450
243.113 892.150
ey = =>(Lyi Wi) =>Wi = 1457.194  406.322 = 3.586(m)
T,4
Lxi () (N/m2) (n><m) , (m2) WioCkN) | Wi(kN) Lxi Wi (kN m)
X1 0.000 1000 7.000 =< 1.38 9.625
1000 4.000 > 1.48 5.900 15.525 0.000
1.500 1000 6.000 > 1.38 8.250
1300 | 21.000 27.300
1000 9.000 > 1.48 13.275 48.825 73.238
X4 3.000 500 4.000 > 1.38 2.750
1000 3.000 > 1.48 4.425
500 4.000 > 1.48 2.950 10.125 30.375
4.500 1000 6.000 =< 1.38 8.250
500 1.000 > 1.38 0.688
1300 | 20.000 26.000
1000 6.000 > 1.48 8.850
500 7.000 > 1.48 5.163 48.950 220.275
X7 6.000 500 3.000 =< 1.48 2.213
4.800 7.013 42.075
6.500 1000 2.000 =< 1.38 2.750
1300 7.000 9.100
1000 2.000 > 1.48 2.950 14.800 96.200
X8 7.000 500 5.000 =< 1.38 3.438
500 5.000 > 1.48 3.688 7.125 49.875
9.000 1000 8.000 > 1.38 11.000
1300 | 24.000 31.200
3000 4.000 12.000
1000 8.000 > 1.48 11.800
4.800 70.800 637.200
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Lxi () (N/m2) (m><m) , (2) WioCkN) | Wi(kN) Lxi Wi (kN m)
X12 11.000 1000 7.000 < 1.38 9.625
1000 7.000 = 1.48 10.325 19.950 219.450
243.113 1368.688
ex = S>(Lxi Wi) =>Wi = 2263.931  406.322 = 5.572(m)




= 1161 (\m)

—
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Lyi (m) ) cf wQio (kN) | wQi (kN) | Lyi wQi (kN m)
Y1 0.000
2.000 4.952 1.200 6.902
5.829 1.085 7.344 14.246 28.493
Y5 4.000
4.500 1.508 1.200 2.227
1.457 1.085 1.836 4.063 18.282
Y6 5.000
6.000 1.278 1.200 1.781
2.915 1.085 3.672 5.453 32.720
Y8 7.000
23.762 79.494
wy = S>(Lyi Wi) =>Wi = 79.494  23.762 = 3.345(m)
T,1
= 1161 (N/m?)
Lxi () ) cf wQio (kN) | wQi (kN) | Lxi wQi (kN m)
X1 0.000 0.934 0.688 0.746 0.746 0.000
1.500 6.225 0.688 4.975
4.333 1.085 5.459 10.434 15.651
X4 3.000
4.500 6.225 0.688 4.975
4.333 1.085 5.459 10.434 46.953
X7 6.000
6.500 2.075 0.688 1.658
1.444 1.085 1.820 3.478 22.607
X8 7.000
9.000 8.300 0.688 6.634
5.777 1.085 7.278 13.912 125.208
X12 11.000 0.934 0.688 0.746 0.746 8.209
39.751 218.628
wx = =>(Lxi Wi) =>Wi = 218.628  39.751 = 5.500(m)




= 1161 (\m)

—
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Lyi (m) ) cf wQio (kN) | wQi (kN) | Lyi wQi (kN m)
Y1 0.000
2.000 5.554 1.085 6.998
6.583 1.085 8.294 15.291 30.582
Y5 4.000
4.500 1.389 1.085 1.749
1.646 1.085 2.073 3.823 17.203
Y6 5.000
6.000 2.777 1.085 3.499
3.291 1.085 4.147 7.646 45.874
Y8 7.000
26.760 93.659
wy = =>(Lyi Wi) =>Wi = 173.153  50.522 = 3.427(m)
T,1
= 1161 (N/m?)
Lxi () ) cf wQio (kN) | wQi (kN) | Lxi wQi (kN m)
X1 0.000
1.500 4.124 1.085 5.195
4.887 1.085 6.157 11.353 17.029
X4 3.000
4.500 4.124 1.085 5.195
4.887 1.085 6.157 11.353 51.087
X7 6.000
6.500 1.375 1.085 1.732
1.629 1.085 2.052 3.784 24.597
X8 7.000
9.000 5.498 1.085 6.927
6.516 1.085 8.210 15.137 136.231
X12 11.000
41.626 228.943
wx = =>(Lxi Wi) =>Wi = 447.571  81.377 = 5.500(m)




2.5.4.
>
v8 3.2 \ 3.2 5 5 5 " 3.2 .2 3.2
3.2 3.2
Y7 0] e} @)
Y6 @] O (@] O (@] O (@] (@]
3.2
y5.5 I
Y5 o] @) o e}
3.2 1.9 1.9
5.5 @
Y4 X
3.2
Y3 o %
3.2
Y2
3.2
V1 3.2 o 3.2 3.2Q o o 3.2 3.23 o 3.23
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
)
i yi om i yi i yi?
Y1 - 5644800 0.000 0 0 0.972
Y8 - 4704000 7.000 32928000 230496000 1.033
10348800 32928000 230496000
ey=>( i y) 3 i=32928000 10348800 = 3.182(m)
i XI m i X1 i xi2
X1 T 2463728 0.000 0 0
X4 T 2234400 3.000 6703200 20109600
X8 1 2234400 7.000 15640800 109485600
X12 l 3763200 11.000 41395200 455347200
10695730 63739200 584942400
ex=>( i x) 3 i=63739200 10695730 = 5.959(m)
(<)
i yi om i yi i yi?
Y1l - 5644800 0.000 0 0 0.972
Y8 - 4704000 7.000 32928000 230496000 1.033
10348800 32928000 230496000
ey=>( i y) 3 i =32928000 10348800 = 3.182(m)
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i Xi m i Xi i Xi2
X1 1 2463728 0.000 0 0
X4 1 2234400 3.000 6703200 20109600
X8 T 2234400 7.000 15640800 109485600
X12 T 3763200 11.000 41395200 455347200
10695730 63739200 584942400
ex = ( X) = i = 63739200 10695730 = 5.959(m)
()
i Xi m i Xi i Xi2
X1 T 2463728 0.000 0 0 1.091
X4 T 2234400 3.000 6703200 20109600 1.045
X8 T 2234400 7.000 15640800 109485600 0.984
X12 T 3763200 11.000 41395200 455347200 0.923
10695730 63739200 584942400
ex = ( X) = i = 63739200 10695730 = 5.959(m)
i yi om i yi i yi?
Y1 - 5644800 0.000 0 0
Y8 - 4704000 7.000 32928000 230496000
10348800 32928000 230496000
ey = 5( y) = i = 32928000 10348800 = 3.182(m)
(L)
i Xi m i Xi i Xi2
X1 1 2463728 0.000 0 0 1.091
X4 1 2234400 3.000 6703200 20109600 1.045
X8 1 2234400 7.000 15640800 109485600 0.984
X12 1 3763200 11.000 41395200 455347200 0.923
10695730 63739200 584942400
ex = 3( X) = i = 63739200 10695730 = 5.959(m)
i yi om i yi i yi?
Y1 - 5644800 0.000 0 0
Y8 - 4704000 7.000 32928000 230496000
10348800 32928000 230496000
ey = 5( y) = i = 32928000 10348800 = 3.182(m)
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>
5.0
v8 . 5.0, 5.0 5 5 5 5.0 5 4.7
MX 4.0 K 4.0==1 — [3.2
Y7 ¢) @)
K 4.0
Y6 5 4.0
= (4.0 3.2
y5-5 4.7 K I
¥ 3 2;-0 e ° T2.4
5.5 @
X
Y4
3.2
Y3 o %
3.2
Y2
3.2
4.7 5.0 4.7 5.0
V1 5.0 o 3.2 4.7Q o 3.2 5.03 o 4.73
T —1 T
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
)
i yi om i yi i yi?
Y1 - 7585200 0.000 0 0 0.958
Y5 - 1381800 4.000 5527200 22108800 1.009
Y6 - 1176000 5.000 5880000 29400000 1.022
Y8 - 5880000 7.000 41160000 288120000 1.048
16023000 52567200 339628800
ey=>( i y) = i=52567200 16023000 = 3.281(m)
i XI m i Xi i xi2
X1 T 1881600 0.000 0 0
X4 T 5174400 3.000 15523200 46569600
X7 1 1176000 6.000 7056000 42336000
X8 l 3998400 7.000 27988800 195921600
X12 l 3763200 11.000 41395200 455347200
15993600 91963200 740174400
ex=>( i x) 3 i=091963200 15993600 = 5.750(m)
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(<)
i yi m i yi yi?
Y1 - 7585200 0.000 0 0 0.955
Y5 - 1470000 4.000 5880000 23520000 1.010
Y6 - 1176000 5.000 5880000 29400000 1.024
Y8 - 5791800 7.000 40542600 283798200 1.051
16023000 52302600 336718200
ey=>( i y) = i=5230200 16023000 = 3.264(m)
i Xi m i Xi Xi2
X1 1 1881600 0.000 0 0
X4 1 5174400 3.000 15523200 46569600
X7 T 1176000 6.000 7056000 42336000
X8 T 3998400 7.000 27988800 195921600
X12 T 3763200 11.000 41395200 455347200
15993600 91963200 740174400
ex=>( i x) = i=091963200 15993600 = 5.750(m)
()
i Xi m i Xi Xi2
X1 T 1881600 0.000 0 0 1.043
X4 T 5174400 3.000 15523200 46569600 1.021
X7 T 1176000 6.000 7056000 42336000 0.998
X8 T 3998400 7.000 27988800 195921600 0.991
X12 T 3763200 11.000 41395200 455347200 0.960
15993600 91963200 740174400
ex=>( i x) 3 i=091963200 15993600 = 5.750(m)
i yi om i yi yi?
Y1 - 7585200 0.000 0 0
Y5 - 1381800 4.000 5527200 22108800
Y6 - 1176000 5.000 5880000 29400000
Y8 - 5880000 7.000 41160000 288120000
16023000 52567200 339628800
ey=>( i y) = i=52567200 16023000 = 3.281(m)
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(L)

i Xi m i Xi Xi2
X1 1 1881600 0.000 0 0 1.043
X4 1 5174400 3.000 15523200 46569600 1.021
X7 1 1176000 6.000 7056000 42336000 0.998
X8 1 3998400 7.000 27988800 195921600 0.991
X12 1 3763200 11.000 41395200 455347200 0.960

15993600 91963200 740174400
ex = ( X) = i = 91963200 15993600 = 5.750(m)

i yi om i yi yi?
Y1 - 7585200 0.000 0 0
Y5 - 1470000 4.000 5880000 23520000
Y6 - 1176000 5.000 5880000 29400000
Y8 - 5791800 7.000 40542600 283798200

16023000 52302600 336718200
ey = 5( y) = i = 52302600 16023000 = 3.264(m)
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>
v8 3.2 \ 3.2 5 5 5 " 3.2 .2 3.2
3.2 3.2
Y7 0] e} @)
Y6 @] O (@] O (@] O (@] (@]
3.2
y5.5 I
Y5 o] @) o )
3.2 1.9 1.9
5.5
© X
Y4
3.2
Y3 o %
3.2
Y2
3.2
V1 3.2 o 3.2 3.2Q o o 3.2 3.23 o 3.23
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
)
i yi om i yi i yi?
Y1 - 5644800 0.000 0 0 0.984
Y8 - 4704000 7.000 32928000 230496000 1.020
10348800 32928000 230496000
wy=>( i y) = i=32928000 10348800 = 3.182(m)
i XIm i X1 i xi2
X1 T 2463728 0.000 0 0
X4 T 2234400 3.000 6703200 20109600
X8 1 2234400 7.000 15640800 109485600
X12 l 3763200 11.000 41395200 455347200
10695730 63739200 584942400
wx = >( i x) > i =63739200 10695730 = 5.959(m)
(<)
i yi om i yi i yi?
Y1l - 5644800 0.000 0 0 0.984
Y8 - 4704000 7.000 32928000 230496000 1.020
10348800 32928000 230496000
wy=>( i y) = i=32928000 10348800 = 3.182(m)
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i Xi m i Xi i Xi2
X1 1 2463728 0.000 0 0
X4 1 2234400 3.000 6703200 20109600
X8 T 2234400 7.000 15640800 109485600
X12 T 3763200 11.000 41395200 455347200
10695730 63739200 584942400
wx = >( X) = i = 63739200 10695730 = 5.959(m)
(r)
i Xi m i Xi i Xi2
X1 T 2463728 0.000 0 0 1.088
X4 T 2234400 3.000 6703200 20109600 1.044
X8 T 2234400 7.000 15640800 109485600 0.985
X12 T 3763200 11.000 41395200 455347200 0.925
10695730 63739200 584942400
wx = >( X) = i = 63739200 10695730 = 5.959(m)
i yi om i yi i yi?
Y1 - 5644800 0.000 0 0
Y8 - 4704000 7.000 32928000 230496000
10348800 32928000 230496000
wy = >( y) = i = 32928000 10348800 = 3.182(m)
(L)
i Xi m i Xi i Xi2
X1 1 2463728 0.000 0 0 1.088
X4 1 2234400 3.000 6703200 20109600 1.044
X8 1 2234400 7.000 15640800 109485600 0.985
X12 1 3763200 11.000 41395200 455347200 0.925
10695730 63739200 584942400
wx = >( X) = i = 63739200 10695730 = 5.959(m)
i yi om i yi i yi?
Y1 - 5644800 0.000 0 0
Y8 - 4704000 7.000 32928000 230496000
10348800 32928000 230496000
wy = >( y) = i = 32928000 10348800 = 3.182(m)
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>
5.0
v8 " 5.0, 5.0 5 5 5 5.0 5 4.7
MK 4.0 K 4.0==1 — [3.2
Y7 ¢) @)
K 4.0
Y6 5 4.0
= (4.0 3.2
y5-5 4.7 K I
Y5 5.0 o o o
3.2 2.4 2.4
5.5 @X
Y4
3.2
Y3 o %
3.2
Y2
3.2
4.7 5.0 4.7 5.0
V1 5.0 o 3.2 4.7Q o 3.2 5.03 o 4.73
T —1 T
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
)
i yi om i yi i yi?
Y1 - 7585200 0.000 0 0 0.980
Y5 - 1381800 4.000 5527200 22108800 1.004
Y6 - 1176000 5.000 5880000 29400000 1.011
Y8 - 5880000 7.000 41160000 288120000 1.023
16023000 52567200 339628800
wy=>( i y) = i=52567200 16023000 = 3.281(m)
i XI m i Xi i xi2
X1 T 1881600 0.000 0 0
X4 T 5174400 3.000 15523200 46569600
X7 1 1176000 6.000 7056000 42336000
X8 l 3998400 7.000 27988800 195921600
X12 l 3763200 11.000 41395200 455347200
15993600 91963200 740174400
wx = >( i x) = i=91963200 15993600 = 5.750(m)
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(<)
i yi m i yi yi?
Y1 - 7585200 0.000 0 0 0.977
Y5 - 1470000 4.000 5880000 23520000 1.005
Y6 - 1176000 5.000 5880000 29400000 1.012
Y8 - 5791800 7.000 40542600 283798200 1.026
16023000 52302600 336718200
wy=>( i y) = i=52302600 16023000 = 3.264(m)
i Xi m i Xi Xi2
X1 1 1881600 0.000 0 0
X4 1 5174400 3.000 15523200 46569600
X7 T 1176000 6.000 7056000 42336000
X8 T 3998400 7.000 27988800 195921600
X12 T 3763200 11.000 41395200 455347200
15993600 91963200 740174400
wx = >( i x) = i =91963200 15993600 = 5.750(m)
(r)
i Xi m i Xi Xi2
X1 T 1881600 0.000 0 0 1.061
X4 T 5174400 3.000 15523200 46569600 1.029
X7 T 1176000 6.000 7056000 42336000 0.997
X8 T 3998400 7.000 27988800 195921600 0.987
X12 T 3763200 11.000 41395200 455347200 0.945
15993600 91963200 740174400
wx = >( i x) > i =91963200 15993600 = 5.750(m)
i yi om i yi yi?
Y1 - 7585200 0.000 0 0
Y5 - 1381800 4.000 5527200 22108800
Y6 - 1176000 5.000 5880000 29400000
Y8 - 5880000 7.000 41160000 288120000
16023000 52567200 339628800

wy = >(C i

y) = i = 52567200

16023000 = 3.281(m)

36



(L)

i Xi m i Xi Xi2
X1 1 1881600 0.000 0 0 1.061
X4 1 5174400 3.000 15523200 46569600 1.029
X7 1 1176000 6.000 7056000 42336000 0.997
X8 1 3998400 7.000 27988800 195921600 0.987
X12 1 3763200 11.000 41395200 455347200 0.944

15993600 91963200 740174400
wx = >( X) = i = 91963200 15993600 = 5.750(m)

i yi om i yi yi?
Y1 - 7585200 0.000 0 0
Y5 - 1470000 4.000 5880000 23520000
Y6 - 1176000 5.000 5880000 29400000
Y8 - 5791800 7.000 40542600 283798200

16023000 52302600 336718200
wy = >( y) = i = 52302600 16023000 = 3.264(m)
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2.5.5.

)
ae Di (N/rad) Qe (kN) Pa (kN) Qe/Pa
Y1 0.972 5644800 28.404 37.632 0.75
Y8 1.033 4704000 25.164 31.360 0.80
10348800 53.569 68.992
(<)
ae Di (N/rad) Qe (kN) Pa (kN) Qe/Pa
Y1 0.972 5644800 28.404 37.632 0.75
Y8 1.033 4704000 25.164 31.360 0.80
10348800 53.569 68.992
(m
oe Di (N/rad) Qe (kN) Pa (kN) Qe/Pa
X1 1.091 2463728 13.466 18.816 0.72
X4 1.045 2234400 11.698 14.896 0.79
X8 0.984 2234400 11.012 14.896 0.74
X12 0.923 3763200 17.392 25.088 0.69
10695730 53.569 73.696
1)
e Di (N/rad) Qe (kN) Pa (kN) Qe/Pa
X1 1.091 2463728 13.466 18.816 0.72
X4 1.045 2234400 11.698 14.896 0.79
X8 0.984 2234400 11.012 14.896 0.74
X12 0.923 3763200 17.392 25.088 0.69
10695730 53.569 73.696
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)
ae Di (N/rad) Qe (kN) Pa (kN) Qe/Pa
Y1 0.958 7585200 46.047 50.568 0.91
Y5 1.009 1381800 8.842 9.212 0.96
Y6 1.022 1176000 7.621 7.840 0.97
Y8 1.048 5880000 39.070 39.200 1.00
16023000 101.580 106.820
(<)
ae Di (N/rad) Qe (kN) Pa (kN) Qe/Pa
Y1 0.955 7585200 45.941 50.568 0.91
Y5 1.010 1470000 9.413 9.800 0.96
Y6 1.024 1176000 7.632 7.840 0.97
Y8 1.051 5791800 38.594 38.612 1.00
16023000 101.580 106.820
(m
oe Di (N/rad) Qe (kN) Pa (kN) Qe/Pa
X1 1.043 1881600 12.468 12.544 0.99
X4 1.021 5174400 33.545 34.496 0.97
X7 0.998 1176000 7.455 7.840 0.95
X8 0.991 3998400 25.156 26.656 0.94
X12 0.960 3763200 22.956 25.088 0.92
15993600 101.580 106.624
)
ae Di (N/rad) Qe (kN) Pa (kN) Qe/Pa
X1 1.043 1881600 12.470 12.544 0.99
X4 1.021 5174400 33.547 34.496 0.97
X7 0.998 1176000 7.455 7.840 0.95
X8 0.991 3998400 25.155 26.656 0.94
X12 0.960 3763200 22.953 25.088 0.91
15993600 101.580 106.624
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)
ow Di (N/rad) Qw (kN) Pa (kN) Qw/Pa
Y1 0.984 5644800 12.750 37.632 0.34
Y8 1.020 4704000 11.012 31.360 0.35
10348800 23.762 68.992
(<)
ow Di (N/rad) Qw (kN) Pa (kN) Qw/Pa
Y1 0.984 5644800 12.750 37.632 0.34
Y8 1.020 4704000 11.012 31.360 0.35
10348800 23.762 68.992
(m
ow Di (N/rad) Qw (kN) Pa (kN) Qw/Pa
X1 1.088 2463728 9.967 18.816 0.53
X4 1.044 2234400 8.669 14.896 0.58
X8 0.985 2234400 8.176 14.896 0.55
X12 0.925 3763200 12.939 25.088 0.52
10695730 39.751 73.696
4
ow Di (N/rad) Qw (kN) Pa (kN) Qw/Pa
X1 1.088 2463728 9.967 18.816 0.53
X4 1.044 2234400 8.669 14.896 0.58
X8 0.985 2234400 8.176 14.896 0.55
X12 0.925 3763200 12.939 25.088 0.52
10695730 39.751 73.696

S
o o o o

R R e
o o o o

OK
OK

OK
OK

OK
OK
OK
OK

OK
OK
OK
OK
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)
ow Di (N/rad) Qw (kN) Pa (kN) Qw/Pa
Y1 0.980 7585200 23.430 50.568 0.46
Y5 1.004 1381800 4.376 9.212 0.48
Y6 1.011 1176000 3.748 7.840 0.48
Y8 1.023 5880000 18.968 39.200 0.48
16023000 50.522 106.820
(<)
ow Di (N/rad) Qw (kN) Pa (kN) Qw/Pa
Y1 0.977 7585200 23.376 50.568 0.46
Y5 1.005 1470000 4.659 9.800 0.48
Y6 1.012 1176000 3.753 7.840 0.48
Y8 1.026 5791800 18.734 38.612 0.49
16023000 50.522 106.820
(m
ow Di (N/rad) Qw (kN) Pa (kN) Qw/Pa
X1 1.061 1881600 10.155 12.544 0.81
X4 1.029 5174400 27.092 34.496 0.79
X7 0.997 1176000 5.968 7.840 0.76
X8 0.987 3998400 20.076 26.656 0.75
X12 0.945 3763200 18.086 25.088 0.72
15993600 81.377 106.624
(€D
ow Di (N/rad) Qw (kN) Pa (kN) Qw/Pa
X1 1.061 1881600 10.157 12.544 0.81
X4 1.029 5174400 27.095 34.496 0.79
X7 0.997 1176000 5.968 7.840 0.76
X8 0.987 3998400 20.075 26.656 0.75
X12 0.944 3763200 18.082 25.088 0.72
15993600 81.377 106.624

S
o o o o

T S
o o o o
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e
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OK
OK
OK
OK

OK
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OK
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OK
OK
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10.100 (kN)
15.900 (kN)

=1/2 =<
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x<

0(=1960N/m) >

1(m)
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1000
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500
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ﬁ4
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ﬁ7

T
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500 500

1000

1000

1000

1000

1000

1000

1000

1000
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(m

(kN)

(kN)

(m

N1 (kN)

Y1

1.150

11.000

24.794

24.794

7.000

1.150

7.889

Y8
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(

() (kN) (kN) m | a N1 (kN)

X1
1.150[  7.000 15.778 15.778| 3.000[ 1.150 3.381

X4
1.150[  7.000 15.778 15.778| 4.000[ 1.150 4.508

X8
1.150[  7.000 15.778 15.778| 4.000 1.150 4.508

X12
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1000

1000

500
500
500
500

1000

1000

1000

)
1.15 0.0 1.15 1.15 1.15
1.15 0.0 1.15 1.15 1.15
1.15 1.15 1.15 1.15
X1 XF | ﬁ3 ﬁ4 X5 X6 Xﬁ XF ﬁQ X10
1000 500 500 1000 1000 1000 1000 1000 1000 1000 1000 1000
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() (kN) (kN) m | a N1 (kN)

Y1
1.150[ 11.000 24.794 24.794[  4.000[  1.150 4.508

Y5
1.150[  9.000 20.286 20.286[ 1.000[  1.150 1.127

Y6
1.150[  9.000 20.286 20.286[ 2.000[  1.150 2.254

Y8
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(
() (kN) (kN) m | a N1 (kN)
X1
1.150[  7.000 15.778 15.778| 3.000[ 1.150 3.381
X4
1.150[  4.000 9.016 9.016[ 3.000[ 1.150 3.381
X7
1.150[  7.000 15.778 15.778| 1.000[ 1.150 1.127
X8
1.150[  7.000 15.778 15.778|  4.000 1.150 4.508

X12
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49

TN1 :
TN2 : > 0(=1960N/m) > (m)
(
TNL (kN) [ TN2 (kN) [ TNmax (kN)
X4 - Y8 2.254 4.900 4.900
X8 - Y8 4.900 4.900




2.6.2.
(.
=" 0.3282
=3 ij = 13.787 (kN)
= i x> (aij-1> ij-1,j) =  39.383 (kN)
= i x>(aij > ij-1.J) = 40.444 (kN)
=3 ij = 53.569 (kN)
=( - -)7(C -) = 0.624
ij ij a i i
Eij (kN) e ii-1i|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
Y1 28.404 0.972 20.599 [  6.572
0.985 71.292| 23.055[ 24.794| 21.832[ ok [ -1.224[ oK
Y5 1.007 0.688| 0.227
1.010 16.448| 5.455| 24.794| -1.451| OK | -6.906[ OK
Y6 1.016
1.023 33.584 [ 11.271| 24.794| -6.906[ ok [ -18.177[ oK
Y8 25.164 1.033 20.509 [  6.987
0.000
53.569 163.209 [ 53.569
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=" 0.3282
=3 ij = 13.787 (kN)
= i x> (aij-1> ij-1,j) =  39.383 (kN)
= i x>(aij > ij-1.J) = 40.444 (kN)
= ij = 53.569 (kN)
=( - -)7(C -) = 0.624
ij ij a i i
Eij (kN) ae ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
Y1 28.404 0.972 20.599 [  6.572
0.985 71.292| 23.055( 24.794| 21.832[ ok [ -1.224[ oK
Y5 1.007 0.688| 0.227
1.010 16.448| 5.455| 24.794| -1.451| OK | -6.906[ OK
Y6 1.016
1.023 33.584 [ 11.271| 24.794| -6.906[ ok [ -18.177[ oK
Y8 25.164 1.033 20.509 [  6.987
0.000
53.569 163.209 [ 53.569
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( (m)
=" 0.3282
=3 ij = 10.606 (kN)
= i x> (aij-1x ij-1,j) =  44.401 (kN)
= i x>(aij > ij-1.J) = 42.303 (kN)
= ij = 53.569 (kN)
=( - -)7(C -) = 0.315
ij ij a i i
Eij (kN) ae ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
X1 13.466 1.001 12.937| 4.634
1.060 35.580 [ 12.377| 15.778| 8.832 ok [ -3.544[ oK
X4 11.698 1.045 2.750[  0.944
1.014 36.268[ 12.068[ 15.778[ 7.211| ok [ -4.858[ oK
X7 0.999
0.989 11.860( 3.849| 15.778| -4.858| oK | -8.707| oK
X8 11.012 0.984 3.438[ 1.110
0.942 47.440[ 14.668[ 15.778[ 1.195[ ok [ -13.473[ oK
X12 17.392 0.923 12.937|  3.918
0.000
53.569 163.209 [ 53.569




( L)
=" 0.3282
=3 ij = 10.606 (kN)
= i x> (aij-1x ij-1,j) =  44.401 (kN)
= i x>(aij > ij-1.J) = 42.303 (kN)
= ij = 53.569 (kN)
=( - -)7(C -) = 0.315
ij ij a i i
Eij (kN) ae ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
X1 13.466 1.001 12.937| 4.634
1.060 35.580 [ 12.377| 15.778| 8.832 ok [ -3.544[ oK
X4 11.698 1.045 2.750[  0.944
1.014 36.268[ 12.068[ 15.778[ 7.211| ok [ -4.858[ oK
X7 0.999
0.989 11.860( 3.849| 15.778| -4.858| oK | -8.707| oK
X8 11.012 0.984 3.438[ 1.110
0.942 47.440[ 14.668[ 15.778[ 1.195[ ok [ -13.473[ oK
X12 17.392 0.923 12.937|  3.918
0.000
53.569 163.209 [ 53.569




)
=~ 0.1975
=3 ij = 67.448 (kN)
= i x> (aij-1x ij-1,j) =  33.724 (kN)
= i x>(aij > ij-1.)) = 35.024 (kN)
= ij = 101.580 (kN)
=( - -)7(C -) = 0.686
ij ij a i i
Eij (kN) ae ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
Y1 46.047 0.958 31.350 [ 34.333
0.974 91.400( 17.578[ 24.794| 11.724[ ok | -5.863[ oK
Y5 8.842 1.009 6.588[  1.313
1.013 20.175[ 4.038| 20.286( 1.665[ ok [ -2.372[ oK
Y6 7.621 1.022 0.738|  0.149
1.030 61.513[ 12.517[ =20.286( 5.100[ ok [ -7.417[ oK
Y8 39.070 1.048 31.350 [ 31.654
0.000
101.580 243.113 [ 101.580
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(<)
=~ 0.1975
=3 ij = 67.454 (kN)
= i x> (aij-1> ij-1,j) =  33.705 (kN)
= i x>(aij > ij-1.J) =  35.080 (kN)
= ij = 101.580 (kN)
=( - -)7(C -) = 0.694
ij ij a i i
Eij (kN) ae ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
Y1 45.941 0.955 31.350 [ 34.319
0.972 91.400 [ 17.547[ 24.794| 11.622| ok [ -5.925[ oK
Y5 9.413 1.010 6.588[ 1.314
1.014 20.175|  4.041| 20.286( 2.174[ ok [ -1.867[ oK
Y6 7.632 1.024 0.738|  0.149
1.032 61.513[ 12.538[ =20.286( 5.616[ ok [ -6.922[ oK
Y8 38.594 1.051 31.350 [ 31.672
0.000
101.580 243.113 [ 101.580

55



( (r)
=~ 0.1975
=3 ij = 65.369 (kN)
= i x> (aij-1> ij-1,j) =  36.695 (kN)
= i x>(aij > ij-1.J) = 35.816 (kN)
= ij = 101.580 (kN)
=( - -)7(C -) = 0.451
ij ij a i i
Eij (kN) ae ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
X1 12.468 1.043 15.525 |  16.665
1.031 48.825[ 9.040[ 15.778[ -4.197[ oKk [ -14.137[ oK
X4 33.545 1.021 10.125| 13.739
1.008 48.950[ 9.747[ 9.016[ 5.668[ oKk [ -4.079[ oK
X7 7.455 0.998 7.013[  1.382
0.994 14.800[ 2.905| 15.778| 1.994| oKk | -0.911[ oK
X8 25.156 0.991 7.125| 12.406
0.974 70.800 [ 13.619[ 15.778| 11.838[ ok [ -1.781[ oK
X12 22.956 0.960 19.950 [ 21.176
0.000
101.580 243.113 [ 101.580




( (@)
=~ 0.1975
=3 ij = 65.369 (kN)
= i x> (aij-1> ij-1,j) =  36.696 (kN)
= i x>(aij > ij-1.J) = 35.814 (kN)
= ij = 101.580 (kN)
=( - -)7(C -) = 0.451
ij ij a i i
Eij (kN) ae ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
X1 12.470 1.043 15.525 |  16.666
1.031 48.825[ 9.041[ 15.778[ -4.196[ oKk [ -14.137[ oK
X4 33.547 1.021 10.125| 13.739
1.008 48.950[ 9.747[ 9.016[ 5.670[ oKk [ -4.077[ oK
X7 7.455 0.998 7.013[  1.382
0.994 14.800[ 2.905| 15.778| 1.996| OK | -0.909[ oK
X8 25.155 0.991 7.125| 12.406
0.974 70.800[ 13.618[ 15.778[ 11.840[ ok [ -1.778[ oK
X12 22.953 0.960 19.950 [ 21.175
0.000
101.580 243.113 [ 101.580




) (=)
=5 ij = 0.000 (kN)
= S(aij-1>  ij-1,]) = 23.598 (kN)
=S(aij > ij-1.1) = 23.966 (kN)
=5 ij = 23.762 (kN)
=( - -)7(C -) = 0.554
ij ij a i i
EiW_(kN) o ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
Y1 12.750 0.984
0.993 14.246| 14.145| 24.794| 12.750| oK | -1.394[ oK
Y5 1.004
1.006 4.063[ 4.080[ 24.794[ -1.304[ ok [ -5.483[ oK
Y6 1.009
1.014 5.453[ 5.529( 24.794| -5.483[ ok [ -11.012[ oK
Y8 11.012 1.020
0.000
23.762 23.762| 23.762
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) ()
=5 ij = 0.000 (kN)
= S(aij-1>  ij-1,]) = 23.598 (kN)
=S(aij > ij-1.1) = 23.966 (kN)
=5 ij = 23.762 (kN)
=( - -)7(C -) = 0.554
ij ij a i i
EiW_(kN) o ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
Y1 12.750 0.984
0.993 14.246| 14.145| 24.794| 12.750| oK | -1.394[ oK
Y5 1.004
1.006 4.063[ 4.080[ 24.794[ -1.304[ ok [ -5.483[ oK
Y6 1.009
1.014 5.453[ 5.529( 24.794| -5.483[ ok [ -11.012[ oK
Y8 11.012 1.020
0.000
23.762 23.762| 23.762
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« ) (M
=5 ij = 1.503 (kN)
= S(aij-1>  ij-1,]) = 39.423 (kN)
=S(aij > ij-1.1) = 37.615 (kN)
=5 ij = 39.751 (kN)
=( - -)7(C -) = 0.350
ij ij a i i
EiW_(kN) o ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
X1 9.967 1.088 0.746| 0.812
1.060 10.434| 11.055| 15.778| 9.154| oKk | -1.901| oK
X4 8.669 1.044
1.015 10.434| 10.500| 15.778| 6.768| OK | -3.822[ oK
X7 0.999
0.990 3.4718|  3.442 15.778[ -3.822[ ok [ -7.264[ oK
X8 8.176 0.985
0.946 13.912| 13.160| 15.778| 0.911| OK | -12.249[ oK
X12 12.939 0.925 0.746|  0.690
0.000
39.751 39.751[ 39.751




« ) D)
=5 ij = 1.503 (kN)
= S(aij-1>  ij-1,]) = 39.423 (kN)
=S(aij > ij-1.1) = 37.615 (kN)
=5 ij = 39.751 (kN)
=( - -)7(C -) = 0.350
ij ij a i i
EiW_(kN) o ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
X1 9.967 1.088 0.746| 0.812
1.060 10.434| 11.055| 15.778| 9.154| oKk | -1.901| oK
X4 8.669 1.044
1.015 10.434| 10.500| 15.778| 6.768| OK | -3.822[ oK
X7 0.999
0.990 3.4718|  3.442 15.778[ -3.822[ ok [ -7.264[ oK
X8 8.176 0.985
0.946 13.912| 13.160| 15.778| 0.911| OK | -12.249[ oK
X12 12.939 0.925 0.746|  0.690
0.000
39.751 39.751[ 39.751




) )
=3 ij = 23.762 (kN)
= S(aij-1>  ij-1,]) = 26.547 (kN)
=S(aij > ij-1.1) = 27.045 (kN)
=5 ij = 50.522 (kN)
=( - -)7(C -) = 0.573
ij ij a i i
EiW_(kN) o ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
Y1 23.430 0.980 12.750
0.990 15.201| 15.142| 24.794| 10.680| OK | -4.462[ oK
Y5 4.376 1.004
1.007 3.823[ 3.850[ =20.286[ -0.086[ ok [ -3.936[ oK
Y6 3.748 1.011
1.016 7.646| 7.768[ 20.286[ -0.188[ ok [ -7.956[ oK
Y8 18.968 1.023 11.012
0.000
50.522 26.760 [ 50.522
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) (<)
=3 ij = 23.762 (kN)
= S(aij-1>  ij-1,]) = 26.525 (kN)
=S(aij > ij-1.1) = 27.081 (kN)
=5 ij = 50.522 (kN)
=( - -)7(C -) = 0.579
ij ij a i i
EiW_(kN) o ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
Y1 23.376 0.977 12.750
0.989 15.201| 15.124| 24.794| 10.626| OK | -4.498[ oK
Y5 4.659 1.005
1.008 3.823[ 3.853[ =20.286( 0.161| ok [ -3.693[ oK
Y6 3.753 1.012
1.018 7.646| 7.782[ 20.286[ 0.060( ok [ -7.722[ oKk
Y8 18.734 1.026 11.012
0.000
50.522 26.760 [ 50.522




( ) (m)
=3 ij = 39.751 (kN)
= S(aij-1>  ij-1,]) = 42.435 (kN)
=S(aij > ij-1.1) = 41.037 (kN)
=5 ij = 81.377 (kN)
=( - -)7(C -) = 0.421
ij ij a i i
EiW_(kN) o ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
X1 10.155 1.061 9.967
1.042 11.353| 11.834| 15.778| 0.188] OK | -11.645[ OK
X4 27.092 1.029 8.669
1.011 11.353| 11.474| 9.016| 6.778| OK | -4.696[ OK
X7 5.968 0.997
0.991 3.784|  3.751| 15.778|  1.272| ok [ -2.480[ oK
X8 20.076 0.987 8.176
0.962 15.137| 14.567| 15.778| 9.420| oKk | -5.147] oK
X12 18.086 0.945 12.939
0.000
81.377 41.626 [ 81.377
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( ) L)
=3 ij = 39.751 (kN)
= S(aij-1>  ij-1,]) = 42.438 (kN)
=S(aij > ij-1.1) = 41.035 (kN)
=5 ij = 81.377 (kN)
=( - -)7(C -) = 0.421
ij ij a i i
EiW_(kN) o ii-Li|  i-L.i
= 1) (kN) (kN) (kN) (kN) (kN)
X1 10.157 1.061 9.967
1.043 11.353| 11.835[ 15.778| 0.190| OK | -11.645[ OK
X4 27.095 1.029 8.669
1.011 11.353| 11.475[ 9.016| 6.781] OK | -4.694[ oK
X7 5.968 0.997
0.991 3.784|  3.751| 15.778|  1.274| ok [ -2.477[ oK
X8 20.075 0.987 8.176
0.962 15.137| 14.565| 15.778| 9.422| oKk | -5.143[ oK
X12 18.082 0.944 12.939
0.000
81.377 41.626 [ 81.377
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www
e

X1

X1

X4

X4

kN
kN
.
2 2 2
3\38 3\38 3\38
9.30 9.30 9.30
9.30 \9.30 9.30 \9.30 9.30 \[9.30
2 2
NE AT9
14\12 14,12
23.42 \[23.42 23.42 \[20.32 3.10
v1 ¥2 v3 YA 5.5Y5 y5.5 Y6 Y7 v8
il
2 2 2
3\38 3\38 3\38
9.30 9.30 9.30
.30 \|-9.30 .30 \-9.30 .30 \-9.30
2 2
NE AT9
14\12 14,12
3.42 \|-23.42 3.42 \|-20.32 -3.10
v1 ¥2 v3 YA 5.5Y5 y5.5 Y6 7 v8
T
I=
8.03
5.52
-5.52 5.52
S 0 0
14.3 5,98 / [5.98
10.59 17\65/ |17.65
16711 16.11  /17.65 17.65
v1 ¥2 v3 Y4 5.5Y5 y5.5 Y6 7 v8
1
I=
8.03
5.52
-5.52
; 0 0
14.3 5,98 / 598
10.59 17\65/ |17.65
11 -16.11 |17.65 -17.65
v1 ¥2 v3 Y4 5.5Y5 y5.5 Y6 Y7 v8

2.75(m)

2.95(m)
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X7

X7

X8

X8

T
.0
5\98
17,65
17.65 \17.65
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
1
.0
5\98
17.65
7.65 \-17.65
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
T
I
8.03
5.52
-5:52 5.52
B .0
14.3 5\98
10.59 17765,
-16.11 16.11 17.65 \17.65
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
1
I
8.03
5.52
-5.52
B .0
14.3 5\98
10.59 17765,
11 -16.11 7.65 \-17.65
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
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X12 T
2 2 2 2
3338 3338 3338 3338
9.30 9.30 9.30 9.30
9.30 9.30 9.30  \9.30 9.30 \9.30
2 2 2 2
4\79 A\T79 4\79 4\79
14,12/ |14\12 14,12 14,12
23.42 23.42 23.42 \23.42 23.42 \23.42
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
X12 4
2 2 2 2
3138 3338 3338 3338
9.30 9.30 9.30 9.30
.30 -9.30 .30 -9.30 .30 -9.30
2 2 2 2
4\79 4\T79 4\79 4\79
14,12/ |14\12 14,12 14,12
3.42 -23.42 |23.42 \-23.42 |23.42 \-23.42
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
Y1 -
2 2 2 2 2 2
2,16 2216 2,216 2)\16 2,16 2,16
5.94 5.94 5.94 5.94 5.94 5.94
5.94 \5.94 5.94 5.94 5.94 5.94 5.94 \5.94
4.7 2 .0 2 a7 .0
4.36 2097 4\64 2\97 4.36 4\64
12.85 8.%5 13\67 8.%5 12.85 13\67
18.79 [18.79 14.69 \-4.92 N\19.61 14.69 \F4.10 |18.79 -19.61 \19.61
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
Y1l -
V4 V4 2 2 2 2z
2\16 2\16 2216 2\16 2\16 2\16
5.94 5.94 5.94 5.94 5.94 5.94
.94 -5.94 .94 -5.94 .94 -5.94 .94 -5.94
5.0 2 T 2 5.0 T
4.64 2097 4\36 2\97 4.64 4\36
13.67 8.%5 12\85 8.%5 13.67 12\85
9.61 [-19.61 |14.69 \4.10 -18.79 4.69 .92 -19.61 18.79 \-18.79
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
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Y5 N
4.7
4.36
12.85
12.85 12.85
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
Y5 -
5.0
4.64
13.67
3.67  |-13.67
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
Y6 N
.0
71
10\94
10.94 \|10.94
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
Y6 -
.0
71
10\94
0.94 \-10.94
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12



Y8

Y8

70

2 2 2 2 2
2\16 2\16 2\16 216 / [2\16
5.54 5.54 5.4 5.84 / |5.84
5.94 \|5.94 5.94 \|5.94 5.94 \[5.94 5.94 5.94
.0 .0 .0 .0
64 64 I\64 I\64
13\67 13\67 13\67 13\67
19.61 \19.61  |£19.61 \19.61 19.61 \19.61 |-5.94 |-13.67 \|19.61
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
2 2 2 2 2
2\16 2\16 2\16 216 / [2\16
5.54 5.54 5.4 5.84 / |5.84
.94 \-5.94 |8.94 \-5.94 .94 \-5.94 |8.94 -5.94
.0 .0 .0 Tl
64 64 I\64 36
13\67 13\67 13\67 12\85
9.61 \-19.61 49.61 \-19.61 9.61 \-19.61 5.94  |12.85 \|-18.79
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12



kN
kN
X1 T
2 2 2
4,56 4\56 4\56
12254, 1225 12254,
12.54 \12.54 12.54 \12.54 12.54 \12.54
2 2
5\98 5\98
17.63 17,63
30.16 \30.16 30.16 \25.99 4.18
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
X1 1
2 2 2
4,56 4\56 4\56
12254, 1225 12254,
2.54 -12.54 2.54 -12.54 2.54 -12.54
2 2
5\98 5\98
17.63 17,63
0.16 -30.16 0.16 -25.99 -4.18
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
X4 T
1=
10.83
7.44
—#.44 7.44
S .0 .0
17.9 AT AT
13.22 22\03 22,03
-20.66 20.66 22.03 22.03
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8
X4 1
I=
10.83
7.44
-7.44
S .0 .0
17.9 AT AT
13.22 22\03 22,03
.66 -20.66 2.03 -22.03
Y1l Y2 Y3 Y4 5.5Y5 y5.5 Y6 Y7 Y8

2.75(m)

2.95(m)
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X7

X7

X8

X8

.
.0
7\47
22\03
22.03 \[22.03
Y1 2 Y3 Y4 5.5Y5 y5.5 Y6 7 Y8
L
.0
7\47
22\03
2.03 \-22.03
Y1 2 %] Y4 5.5Y5 y5.5 Y6 7 Y8
T
1=
10.83
7.44
744 7.44
B .0
17.9 7\47
13.22 22\03
20766 20.66 22.03 \[22.03
%l 2 Y3 Y4 5.5Y5 y5.5 Y6 7 Y8
4
I=
10.83
7.44
-7.44
B .0
17.9 7\47
13.22 22\03
66 -20.66 2.03 \-22.03
%l 2 Y3 Y4 5.5Y5 y5.5 Y6 7 Y8
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X12 T
2 2 2 2
4256 / |4\56 4\56 4\56
12\54/ |12\54 12\54 12\54
12.54 12.54  |/12.54 \[12.54  |/12.54 \[12.54
2 2 2 2
5,98 / 5.98 5,98 5,98
17\63/ |17\63 17\63 17\63
30.16 30.16  1£30.16 \30.16  |£30.16 \30.16
v1 ¥2 v3 YA 5.5Y5 y5.5 Y6 7 v8
X12 1
2 2 2 2
456 / |4\56 4\56 4\56
12\54/ |12\54 12\54 12\54
2.54 -12.54 |12.54 \-12.54 |12.54 \|-12.54
2 2 2 2
5,98 / |5.98 5,98 5,98
17\63/ |17\63 17\63 17\63
0.16 -30.16 |80.16 \|-30.16 |80.16 \|-30.16
v1 ¥2 v3 YA 5.5Y5 y5.5 Y6 7 v8
Y1 -
2 2 2 2 2 2
487 ng7r / |ae7 487 / |a\87 4\87
13139 13\39/ |13139 13\39/ 13139 13139
13.39 \[13.39  |£13.39 13.39 13.39 13.39 13.39 \[13.39
4.7 2 .0 2 4.7 .0
8.76 5,96 / |9\32 5,96 / [8.76 9.32
25.84 17\59/ |27.49 17\59/ |25.84 27\49
39.23 39.23 |£30.99 \-9.90 \|40.88 30.99 \[/8.25 [39.23 -40.88 \140.88
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
Y1 -
2z 2z 2z 2z 2z 2z
4587 ang7 / |ae7 4087 / |4\87 4\87
13139 13339/ |13139 13)39/ 13139 13139
3.39 \-13.39 |13.39 -13.39 3.39 -13.39 3.39 \-13.39
5.0 2 4 2 5.0 T
9.32 5,96 / |8\.76 5,96 / 9.32 8.76
27.49 17\59/ |25\84 17\59/ |27.49 25\84
0.88 |-40.88 |30.99 \[8.25 \|-39.23 0.99 \9.90  |-40.88 39.23 \|-39.23
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
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Y5 -
4.7
8.76
25.84
25.84 [25.84
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
Y5 -
5.0
9.32
27.49
7.49 |-27.49
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
Y6 -
.0
7\46
21\99
21.99 \21.99
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
Y6 -
.0
7\46
21\99
1.99 \-21.99
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12



Y8

Y8

75

2 2 2 2 2
4587 487 4587 087 / |4\87
13139 13139 13139 13139/ |13139
13.39 \13.39  /13.39 \|13.39 13.39 \|13.39  |/13.39 13.39
.0 .0 .0 .0
9\32 9\32 9\32 9\32
27,49 27,49 27,49 27,49
40.88 \40.88  |£40.88 \|40.88 40.88 \40.88  |-13.39 |-27.49 \|40.88
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12
2 2 2 .2 2
4587 487 4587 087 / |4\87
13139 13139 13139 13139/ |13)39
3.39 \-13.39 |13.39 \-13.39 3.39 \-13.39 |13.39 -13.39
.0 .0 .0 4
9\32 9\32 9\32 8\76
27,49 27,49 27,49 25\84
0.88 \-40.88 |40.88 \-40.88 0.88 \-40.88 [13.39 [25.84 \|-39.23
X1 X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12



3.1.2.

€))
> 0(kN) ®) [= &
XL Y1 1.000 > 1.000 < 1.375 1.375
0.920 > 0.950 0.874
0.250 > 0.250 0.063 2.312
1.000 > 1.000 > 1.475 1.475
2.000 > 0.250 0.500
1.375 3.350|  5.662
XL Y2 [ 2R 0.920 > 1.200 1.104 1.104
1.000 > 1.000 < 1.375 1.375
0.250 > 1.500 0.375
$X3$ Y2 0.690 2.440
1.000 > 1.000 < 1.475 1.475
2.000 > 1.500 3.000
1.375 5.850|  9.394
XL ¥Y3 [ 2R 0.920 > 1.200 1.104 1.104
1.000 > 1.000 < 1.375 1.375
0.250 > 1.500 0.375
$X3$ Y3 0.690 2.440
1.000 > 1.000 < 1.475 1.475
2.000 > 1.500 3.000
1.375 5.850|  9.394
XL Y4 [2R 0.920 > 0.900 0.828 0.828
1.000 > 1.000 < 1.375 1.375
0.250 > 1.500 0.375
XL 5.5 0.276
$X3$ Y4 0.518
$X3$ 5.5 0.173 2.716
1.000 > 1.000 < 1.475 1.475
2.000 > 1.500 3.000
1.375 5.850|  9.394
X1  5.5[2R 0.920 > 0.600 0.552
XL Y4 0.276
XL Y5 0.276
X1 Y5 [2R 0.920 > 0.900 0.828 0.828
1.000 > 1.000 > 1.375 1.375
0.250 > 1.500 0.375
X1 5.5 0.276
$X3$ 5.5 0.173
$X3$ Y5 0.518 2.716
1.000 > 1.000 > 1.475 1.475
2.000 > 2.000 4.000
2.750
XL Y6 2.363
XL Y7 1.181 11.769| 15.313
XL Y6 [ 2R 0.920 > 1.200 1.104 1.104
1.000 > 1.000 < 1.375 1.375
0.250 > 1.500 0.375
$X3$ Y6 0.690
XL Y5 2.363
XL Y8 1.181
XL Y7 [ 2R 0.920 > 1.200 1.104 1.104
1.000 > 1.000 > 1.375 1.375
0.250 > 1.500 0.375
$X3$ Y7 0.690
XL Y5 1.181
XL Y8 2.363




> 0(kN) ®y [= &
XL Y8 1.000 > 1.000 < 1.375 1.375
0.920 > 0.950 0.874
0.250 > 0.250 0.063 2.312
1.000 > 0.500 > 1.475 0.738
2.000 > 1.750 3.500
2.750
XL Y6 1.181
XL Y7 2.363 10.532| 12.843
X2 Y1 1.000 > 1.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 < 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.270
X2 Y5 1.000 > 1.500 < 1.475 2.213
2.000 > 1.500 3.000 5.213
X2 Y8 1.000 > 1.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 > 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.270
$X3$ Y2 [ 2R 0.920 > 1.500 1.380
XL Y2 0.690
X4 Y1 0.518
X4 Y5 0.173
$X3$ Y3 [ 2R 0.920 > 1.500 1.380
XL Y3 0.690
X4 Y1 0.345
X4 Y5 0.345
$X3$ Y4 [ 2R 0.920 >< 1.125 1.035
XL Y4 0.518
X4 Y1 0.129
X4 Y5 0.388
$X3$ 2R 0.920 > 0.750 0.690
XL Y4 0.173
X4 Y1 0.043
X4 Y5 0.129
XL Y5 0.173
X4 Y5 0.173
$X3$ Y5 [ 2R 0.920 > 1.125 1.035
XL Y5 0.518
X4 Y5 0.518
$X3$ Y6 [ 2R 0.920 > 1.500 1.380
XL Y6 0.690
X4 Y6 0.690
$X3$ Y7 [ 2R 0.920 > 1.500 1.380
XL Y7 0.690
X4 Y7 0.690
X3 Y1 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 > 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.270
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> 0(kN) ®y [= &
X3 Y8 1.000 > 1.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 < 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.270
X4 Y1 1.000 > 1.000 < 1.375 1.375
0.500 > 2.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 5.750 1.438
$X3$ Y2 0.518
$X3$ Y3 0.345
$X3$ Y4 0.129
$X3$ 5.5 0.043
X4 Y2 1.208
X4 Y3 0.805
X4 Y4 0.302
X4 5.5 0.101
X6 Y2 0.690
X6 Y3 0.460
X6 Y4 0.173
X6 5.5 0.058 9.938
1.000 > 1.000 > 1.475 1.475
0.500 > 2.000 < 1.475 1.475
2.000 > 5.750 1.500
1.375
1.375 17.200| 27.138
X4 Y2 [ 2R .920 .750 1.610
X4 Y1 1.208
X4 Y5 0.403
X4 Y3 [ 2R .920 .750 1.610
X4 Y1 0.805
X4 Y5 0.805
X4 Y4 [ 2R .920 .313 1.208
X4 Y1 0.302
X4 Y5 0.906
X4 2R .920 .875 0.805
X4 Y1 0.101
X4 Y5 0.704
x4 Y5 [2R .920 .313 1.208 1.208
.500 > 2.000 > 1.375 1.375
.250 > 7.750 1.938
$X3$ Y2 0.173
$X3$ Y3 0.345
$X3$ Y4 0.388
$X3$ 5.5 0.129
$X3$ 5.5 0.173
$X3$ Y5 0.518
X4 Y2 0.403
X4 Y3 0.805
X4 Y4 0.906
X4 5.5 0.704
X6 Y2 0.230
X6 Y3 0.460
X6 Y4 0.518
X6 5.5 0.173 9.235
1.000 > 1.500 > 1.475 2.213
0.500 > 2.000 < 1.475 1.475
2.000 > 6.500 13.000
1.375 18.063| 28.505




> 0(kN) ®y [= &
X4 Y6 [ 2R 0.920 > 1.750 1.610 1.610
0.250 > 2.500 0.625
$X3$ Y6 0.690 1.315
1.000 > 1.000 .475 1.475
2.000 > 2.000 4.000 5.475|  8.400
X4 Y7 [ 2R 0.920 >< 1.750 1.610 1.610
0.250 > 2.500 0.625
$X3$ Y7 0.690 1.315
1.000 > 1.000 .475 1.475
2.000 > 2.250 4.500 5.975|  8.900
X4 Y8 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.500 .475 2.213
2.000 > 0.750 1.500
1.375 5.088|  7.508
X5 Y1 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.500 475 2.213
2.000 > 0.750 1.500
2.063
X6 Y1 1.210 6.985|  9.405
X5 Y5 0.500 > 1.500 475 1.106
2.000 >< 0.750 1.500
0.172
X6 Y5 1.279 4.058
X5 Y6 0.500 > 1.000 .475 0.738
2.000 > 1.000 2.000 2.738
X5 Y7 0.500 > 0.500 .475 0.369
2.000 > 0.500 1.000 1.369
X5 Y8 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 .475 1.475
1.375 2.850|  5.270
X6 Y1 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125
X5 Y1 1.210
X7 Y1 1.210
X6 Y2 [ 2R 0.920 > 2.000 1.840
X4 Y1 0.690
X4 Y5 0.230
X8 Y1 0.690
X8 Y5 0.230
X6 Y3 [ 2R 0.920 > 2.000 1.840
X4 Y1 0.460
X4 Y5 0.460
X8 Y1 0.460
X8 Y5 0.460
X6 Y4 [ 2R 0.920 > 1.500 1.380
X4 Y1 0.173
X4 Y5 0.518
X8 Y1 0.173
X8 Y5 0.518
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< 0(kN) &Ny [ = k)
X6 5.5[ 2R 0.920 > 1.000 0.920
X4 Y1 0.058
X4 Y5 0.173
X8 Y1 0.058
X8 Y5 0.173
X6 Y5 0.460
X6 Y5 2R 0.920 =< 1.500 1.380 .380
0.500 > 0.500 < 1.375 0.344
0.250 > 1.500 0.375
X6 5.5 0.460
X5 Y5 1.279
X7 Y5 1.279
X6 Y6 2R 0.920 =< 2.000 1.840 .840
0.250 > 1.500 0.375 .375
0.500 > 1.000 > 1.475 0.738
2.000 > 1.000 2.000 .738 4.953
X6 Y7 2R 0.920 =< 2.000 1.840 .840
0.250 > 2.000 0.500 .500
0.500 > 1.000 > 1.475 0.738
2.000 > 1.250 2.500 .238 5.578
X6 Y8 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 .420
1.000 > 1.000 > 1.475 1.475
0.500 > 0.500 > 1.475 0.369
2.000 > 0.750 1.500
1.375 .719 7.139
X7 Y1 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 .420
1.000 > 1.500 > 1.475 2.213
2.000 > 0.750 1.500
2.063
X6 Y1 1.210 .985 9.405
X7 Y5 0.500 > 0.500 < 1.375 0.344
0.250 > 1.000 0.250 .594
0.500 > 1.500 > 1.475 1.106
2.000 > 1.500 3.000
0.516
X6 Y5 1.279 .901 6.495
X7 Y6 0.250 > 1.000 0.250 .250
0.500 > 2.000 > 1.475 1.475
2.000 > 1.500 3.000
2.400 .875 7.125
X7 Y8 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 .420
1.000 > 1.000 > 1.475 1.475
0.500 > 1.000 > 1.475 0.738
2.000 > 1.000 2.000
2.400
1.375 .988 | 10.408
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> 0(kN) ®y [= &
X8 Y1 1.000 > 1.000 < 1.375 1.375
0.500 > 2.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 6.500 1.625
X6 Y2 0.690
X6 Y3 0.460
X6 Y4 0.173
X6 5.5 0.058
X8 Y2 1.035
X8 Y3 0.690
X8 Y4 0.259
X8 5.5 0.086
X9 Y2 0.776
X9 Y3 0.518
X9 Y4 0.194
X9 5.5 0.065
X11 Y2 0.259
X11 Y3 0.173
X11 Y4 0.065
X1l 5.5 0.022 10.815
1.000 > 1.000 < 1.475 1.475
0.500 > 2.000 < 1.475 1.475
2.000 > 6.500 3.000
1.375
1.375 18.700| 29.515
X8 Y2 [ 2R 0.920 > 1.500 1.380
X8 Y1 1.035
X8 Y5 0.345
X8 Y3 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.690
X8 Y5 0.690
X8 Y4 [2R 0.920 >< 1.125 1.035
X8 Y1 0.259
X8 Y5 0.776
X8  5.5[2R 0.920 > 0.750 0.690
X8 Y1 0.086
X8 Y5 0.604
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> 0(kN) ®y [= &
X8 Y5 [ 2R 0.920 > 1.125 1.035 1.035
0.500 > 2.000 < 1.375 1.375
0.250 > 8.500 2.125
X6 Y2 0.230
X6 Y3 0.460
X6 Y4 0.518
X6 5.5 0.173
X8 Y2 0.345
X8 Y3 0.690
X8 Y4 0.776
X8 5.5 0.604
X9 Y2 0.259
X9 Y3 0.518
X9 Y4 0.582
X9 5.5 0.194
X9 5.5 0.259
X9 Y5 0.776
X11 Y2 0.086
X11 Y3 0.173
X11 Y4 0.194
X1l 5.5 0.065
X1l 5.5 0.086
X11 Y5 0.259 10.745
0.500 > 2.000 < 1.475 1.475
2.000 = 10.250 0.500
0.800
1.547
X8 Y6 0.987
X9 Y6 0.408
X9 Y6 0.272
X10 Y6 0.083
X11 Y6 0.272 26.343| 38.123
X8 Y6 [ 2R 0.920 > 1.500 1.380 1.380
0.500 > 0.500 < 1.375 0.344
0.250 > 1.000 0.250
X8 Y5 0.987
X8 Y7 0.987
X8 Y7 [2R 0.920 > 1.500 1.380 1.380
0.500 > 0.500 < 1.375 0.344
0.250 > 3.000 0.750
X9 Y7 1.035
X11 Y7 0.345 2.474
0.500 > 0.500 > 1.475 0.369
2.000 > 2.250 4.500
0.516
X8 Y6 0.987
X9 Y6 0.408 6.779| 10.633
X8 Y8 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 > 1.475 1.475
0.500 > 0.500 > 1.475 0.369
2.000 > 0.500 1.000
1.375 4.219|  6.639
X9 Y1 1.000 > 1.500 > 1.375 2.063
0.920 > 1.500 1.380
0.250 > 0.750 0.188 3.630
1.000 > 1.500 > 1.475 2.213
2.000 > 0.750 1.500
2.063 5.775|  9.405
X9 Y2 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.776
X8 Y5 0.259
X12 Y2 0.345
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> 0(kN) ®y [= &
X9 ¥Y3 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.518
X8 Y5 0.518
X12 Y3 0.345
X9 Y4 [2R 0.920 > 1.125 1.035
X8 Y1 0.194
X8 Y5 0.582
X12 Y4 0.259
X9  5.5[2R 0.920 > 0.750 0.690
X8 Y1 0.065
X8 Y5 0.194
X12 Y4 0.086
X8 Y5 0.259
X12 Y5 0.086
X9 Y5 [ 2R 0.920 >< 1.125 1.035
X8 Y5 0.776
X12 Y5 0.259
X9 Y6 [2R 0.920 > 1.500 1.380 1.380
0.250 > 1.000 0.250
X8 Y5 0.408
X8 Y7 0.408
X8 Y5 0.272
X12 Y5 0.272
X10 Y8 0.272
X9 Y7 [ 2R 0.920 > 1.500 1.380
X8 Y7 1.035
X12 Y7 0.345
X9 Y8 1.000 > 1.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 < 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.270
X10 Y6 0.250 > 1.000 0.250
X8 Y5 0.083
X12 Y5 0.083
X10 Y8 0.083
X10 Y8 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 > 1.475 1.475
2.000 > 1.250 2.500
3.700 > 1.250 4.625
3.200
1.375
X9 Y6 0.272
X10 Y6 0.083
X11 Y6 0.272 13.802| 16.222
X11 Y1 1.000 > 1.500 > 1.375 2.063
0.920 > 1.500 1.380
0.250 > 0.750 0.188 3.630
1.000 > 1.500 > 1.475 2.213
2.000 > 0.750 1.500
2.063 5.775|  9.405
X11 Y2 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.259
X8 Y5 0.086
X12 Y2 1.035
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> 0(kN) ®y [= &
X11 Y3 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.173
X8 Y5 0.173
X12 Y3 1.035
X11 Y4 [ 2R 0.920 > 1.125 1.035
X8 Y1 0.065
X8 Y5 0.194
X12 Y4 0.776
X11  5.5[ 2R 0.920 > 0.750 0.690
X8 Y1 0.022
X8 Y5 0.065
X12 Y4 0.259
X8 Y5 0.086
X12 Y5 0.259
X11 Y5 [ 2R 0.920 >< 1.125 1.035
X8 Y5 0.259
X12 Y5 0.776
X11 Y6 [ 2R 0.920 > 1.500 1.380 1.380
0.250 > 1.000 0.250
X8 Y5 0.272
X12 Y5 0.272
X10 Y8 0.272
X12 Y6 0.815
X11 Y7 [ 2R 0.920 > 1.500 1.380
X8 Y7 0.345
X12 Y7 1.035
X11 Y8 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 .475 1.475
3.700 >< 0.500 1.850
1.375 4.700|  7.120
X12 Y1 1.000 > 1.000 .375 1.375
0.920 > 0.950 0.874
0.250 > 0.250 0.063 2.311
1.000 > 1.000 .475 1.475
2.000 > 0.250 0.500
1.375 3.350|  5.662
X12 2 [ 2R 0.920 > 0.950 0.874 0.874
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y2 0.345
X11 Y2 1.035 3.255
1.000 > 1.000 .475 1.475
2.000 > 2.000 4.000
1.375 6.850| 10.979
X12 Y3 [ 2R 0.920 > 0.950 0.874 0.874
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y3 0.345
X11 Y3 1.035 3.255
1.000 > 1.000 .475 1.475
2.000 > 2.000 4.000
1.375 6.850| 10.979
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> 0(kN) ®y [= &
X12 Y4 [ 2R 0.920 > 0.712 0.655 0.655
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y4 0.259
X9 5.5 0.086
X11 Y4 0.776
X1l 5.5 0.259
X12 5.5 0.218 3.474
1.000 > 1.000 475 1.475
2.000 > 2.000 4.000
1.375 6.850| 10.979
X12  5.5[ 2R 0.920 >< 0.475 0.437
X12 Y4 0.218
X12 Y5 0.218
X12 Y5 [ 2R 0.920 > 0.712 0.655 0.655
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 5.5 0.086
X9 Y5 0.259
X1l 5.5 0.259
X11 Y5 0.776
X12 5.5 0.218 3.474
1.000 > 1.000 475 1.475
2.000 > 2.500 5.000
3.700 > 0.500 1.850
0.800
1.375
X9 Y6 0.272
X10 Y6 0.083
X11 Y6 0.272 11.127| 15.256
X12 Y6 [ 2R 0.920 > 0.950 0.874 0.874
1.000 > 1.000 .375 1.375
0.250 > 0.500 0.125 1.500
1.000 > 1.000 .475 1.475
2.000 > 0.500 1.000
3.700 > 0.500 1.850
1.375
X11 Y6 0.815 6.515|  8.889
x12 Y7 [ 2R 0.920 > 0.950 0.874 0.874
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y7 0.345
X11 Y7 1.035 3.255
1.000 > 1.000 .475 1.475
3.700 > 1.000 3.700
1.375 6.550| 10.679
X12 Y8 1.000 > 1.000 .375 1.375
0.920 > 0.950 0.874
0.250 > 0.250 0.063 2.311
1.000 > 1.000 .475 1.475
3.700 > 0.250 0.925
1.375 3.775|  6.087
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@
> 0(kN) ®) [= &
XL Y1 1.000 > 1.000 .375 1.375
1.520 > 0.950 1.444
0.250 > 0.250 0.063 2.882
1.000 > 1.000 .475 1.475
2.000 > 0.250 0.500
1.375 3.350|  6.232
XL Y2 [ 2R 1.520 > 1.200 1.824 1.824
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
$X3$ Y2 1.140 2.890
1.000 > 1.000 475 1.475
2.000 > 1.500 3.000
1.375 5.850| 10.564
XL Y3 [ 2R 1.520 > 1.200 1.824 1.824
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
$X3$ Y3 1.140 2.890
1.000 >< 1.000 .475 1.475
2.000 > 1.500 3.000
1.375 5.850 | 10.564
XL Y4 [2R 1.520 > 0.900 1.368 1.368
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
XL 5.5 0.456
$X3$ Y4 0.855
$X3$ 5.5 0.285 3.346
1.000 > 1.000 .475 1.475
2.000 > 1.500 3.000
1.375 5.850 | 10.564
X1  5.5[2R 1.520 > 0.600 0.912
XL Y4 0.456
XL Y5 0.456
X1 Y5 [2R 1.520 > 0.900 1.368 1.368
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
X1 5.5 0.456
$X3$ 5.5 0.285
$X3$ Y5 0.855 3.346
1.000 > 1.000 .475 1.475
2.000 > 2.000 4.000
2.750
XL Y6 3.143
XL Y7 1.571 12.939| 17.653
XL Y6 [ 2R 1.520 > 1.200 1.824 1.824
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
$X3$ Y6 1.140
XL Y5 3.143
XL Y8 1.571
XL Y7 [ 2R 1.520 > 1.200 1.824 1.824
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
$X3$ Y7 1.140
XL Y5 1.571
XL Y8 3.143
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> 0(kN) ®y [= &
XL Y8 1.000 > 1.000 < 1.375 1.375
1.520 > 0.950 1.444
0.250 > 0.250 0.063 2.882
1.000 > 0.500 > 1.475 0.738
2.000 > 1.750 3.500
2.750
XL Y6 1.571
XL Y7 3.143 11.702| 14.583
X2 Y1 1.000 > 1.000 < 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 < 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.870
X2 Y5 1.000 > 1.500 < 1.475 2.213
2.000 > 1.500 3.000 5.213
X2 Y8 1.000 > 1.000 < 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 > 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.870
$X3$ Y2 [ 2R 1.520 > 1.500 2.280
XL Y2 1.140
X4 Y1 0.855
X4 Y5 0.285
$X3$ Y3 [ 2R 1.520 > 1.500 2.280
XL Y3 1.140
X4 Y1 0.570
X4 Y5 0.570
$X3$ Y4 [ 2R 1.520 >< 1.125 1.710
XL Y4 0.855
X4 Y1 0.214
X4 Y5 0.641
$X3$ 2R 1.520 > 0.750 1.140
XL Y4 0.285
X4 Y1 0.071
X4 Y5 0.214
XL Y5 0.285
X4 Y5 0.285
$X3$ Y5 [ 2R 1.520 > 1.125 1.710
XL Y5 0.855
X4 Y5 0.855
$X3$ Y6 [ 2R 1.520 > 1.500 2.280
XL Y6 1.140
X4 Y6 1.140
$X3$ Y7 [ 2R 1.520 > 1.500 2.280
XL Y7 1.140
X4 Y7 1.140
X3 Y1 1.000 > 1.000 > 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 > 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.870
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> 0(kN) ®y [= &
X3 Y8 1.000 > 1.000 < 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 < 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.870
X4 Y1 1.000 > 1.000 < 1.375 1.375
0.500 > 2.000 < 1.375 1.375
1.520 > 1.000 1.520
0.250 > 5.750 1.438
$X3$ Y2 0.855
$X3$ Y3 0.570
$X3$ Y4 0.214
$X3$ 5.5 0.071
X4 Y2 1.995
X4 Y3 1.330
X4 Y4 0.499
X4 5.5 0.166
X6 Y2 1.140
X6 Y3 0.760
X6 Y4 0.285
X6 5.5 0.095 13.688
1.000 > 1.000 > 1.475 1.475
0.500 > 2.000 < 1.475 1.475
2.000 > 5.750 1.500
1.375
1.375 17.200| 30.888
X4 Y2 [ 2R .520 .750 2.660
X4 Y1 1.995
X4 Y5 0.665
X4 Y3 [ 2R .520 .750 2.660
X4 Y1 1.330
X4 Y5 1.330
X4 Y4 [ 2R .520 .313 1.995
X4 Y1 0.499
X4 Y5 1.496
X4 2R .520 .875 1.330
X4 Y1 0.166
X4 Y5 1.164
x4 Y5 [2R .520 .313 1.995 1.995
.500 > 2.000 > 1.375 1.375
.250 > 7.750 1.938
$X3$ Y2 0.285
$X3$ Y3 0.570
$X3$ Y4 0.641
$X3$ 5.5 0.214
$X3$ 5.5 0.285
$X3$ Y5 0.855
X4 Y2 0.665
X4 Y3 1.330
X4 Y4 1.496
X4 5.5 1.164
X6 Y2 0.380
X6 Y3 0.760
X6 Y4 0.855
X6 5.5 0.285 13.098
1.000 > 1.500 > 1.475 2.213
0.500 > 2.000 < 1.475 1.475
2.000 > 6.500 13.000
1.375 18.063| 33.155




> 0(kN) ®y [= &
X4 Y6 [ 2R 1.520 > 1.750 2.660 2.660
0.250 > 2.500 0.625
$X3$ Y6 1.140 1.765
1.000 > 1.000 .475 1.475
2.000 > 2.000 4.000 5.475|  9.900
X4 Y7 [ 2R 1.520 > 1.750 2.660 2.660
0.250 > 2.500 0.625
$X3$ Y7 1.140 1.765
1.000 > 1.000 .475 1.475
2.000 > 2.250 4.500 5.975| 10.400
X4 Y8 1.000 > 1.000 .375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.500 .475 2.213
2.000 > 0.750 1.500
1.375 5.088| 8.108
X5 Y1 1.000 > 1.000 .375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.500 475 2.213
2.000 > 0.750 1.500
2.063
X6 Y1 1.510 7.285| 10.305
X5 Y5 0.500 > 1.500 475 1.106
2.000 >< 0.750 1.500
0.172
X6 Y5 1.879 4.658
X5 Y6 0.500 > 1.000 .475 0.738
2.000 > 1.000 2.000 2.738
X5 Y7 0.500 > 0.500 .475 0.369
2.000 > 0.500 1.000 1.369
X5 Y8 1.000 > 1.000 .375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 .475 1.475
1.375 2.850|  5.870
X6 Y1 1.000 > 1.000 .375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125
X5 Y1 1.510
X7 Y1 1.510
X6 Y2 [ 2R 1.520 > 2.000 3.040
X4 Y1 1.140
X4 Y5 0.380
X8 Y1 1.140
X8 Y5 0.380
X6 Y3 [ 2R 1.520 > 2.000 3.040
X4 Y1 0.760
X4 Y5 0.760
X8 Y1 0.760
X8 Y5 0.760
X6 Y4 [ 2R 1.520 > 1.500 2.280
X4 Y1 0.285
X4 Y5 0.855
X8 Y1 0.285
X8 Y5 0.855
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< 0(kN) &Ny [ = k)
X6 5.5[ 2R 1.520 > 1.000 1.520
X4 Y1 0.095
X4 Y5 0.285
X8 Y1 0.095
X8 Y5 0.285
X6 Y5 0.760
X6 Y5 2R 1.520 > 1.500 2.280 .280
0.500 > 0.500 < 1.375 0.344
0.250 > 1.500 0.375
X6 5.5 0.760
X5 Y5 1.879
X7 Y5 1.879
X6 Y6 2R 1.520 > 2.000 3.040 .040
0.250 > 1.500 0.375 .375
0.500 > 1.000 > 1.475 0.738
2.000 > 1.000 2.000 .738 6.153
X6 Y7 2R 1.520 > 2.000 3.040 .040
0.250 > 2.000 0.500 .500
0.500 > 1.000 > 1.475 0.738
2.000 > 1.250 2.500 .238 6.778
X6 Y8 1.000 > 1.000 > 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 .020
1.000 > 1.000 > 1.475 1.475
0.500 > 0.500 > 1.475 0.369
2.000 > 0.750 1.500
1.375 .719 7.739
X7 Y1 1.000 > 1.000 > 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 .020
1.000 > 1.500 > 1.475 2.213
2.000 > 0.750 1.500
2.063
X6 Y1 1.510 .285| 10.305
X7 Y5 0.500 > 0.500 < 1.375 0.344
0.250 > 1.000 0.250 .594
0.500 > 1.500 > 1.475 1.106
2.000 > 1.500 3.000
0.516
X6 Y5 1.879 .501 7.095
X7 Y6 0.250 > 1.000 0.250 .250
0.500 > 2.000 > 1.475 1.475
2.000 > 1.500 3.000
2.400 .875 7.125
X7 Y8 1.000 > 1.000 > 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 .020
1.000 > 1.000 > 1.475 1.475
0.500 > 1.000 > 1.475 0.738
2.000 > 1.000 2.000
2.400
1.375 .988| 11.008
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> 0(kN) ®y [= &
X8 Y1 1.000 > 1.000 < 1.375 1.375
0.500 > 2.000 < 1.375 1.375
1.520 > 1.000 1.520
0.250 > 6.500 1.625
X6 Y2 1.140
X6 Y3 0.760
X6 Y4 0.285
X6 5.5 0.095
X8 Y2 1.710
X8 Y3 1.140
X8 Y4 0.428
X8 5.5 0.143
X9 Y2 1.283
X9 Y3 0.855
X9 Y4 0.321
X9 5.5 0.107
X11 Y2 0.428
X11 Y3 0.285
X11 Y4 0.107
X1l 5.5 0.036 15.015
1.000 > 1.000 < 1.475 1.475
0.500 > 2.000 < 1.475 1.475
2.000 > 6.500 3.000
1.375
1.375 18.700| 33.715
X8 Y2 [ 2R 1.520 > 1.500 2.280
X8 Y1 1.710
X8 Y5 0.570
X8 Y3 [ 2R 1.520 > 1.500 2.280
X8 Y1 1.140
X8 Y5 1.140
X8 Y4 [2R 1.520 >< 1.125 1.710
X8 Y1 0.428
X8 Y5 1.283
X8  5.5[2R 1.520 > 0.750 1.140
X8 Y1 0.143
X8 Y5 0.998
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> 0(kN) ®y [= &
X8 Y5 [ 2R 1.520 > 1.125 1.710 1.710
0.500 > 2.000 < 1.375 1.375
0.250 > 8.500 2.125
X6 Y2 0.380
X6 Y3 0.760
X6 Y4 0.855
X6 5.5 0.285
X8 Y2 0.570
X8 Y3 1.140
X8 Y4 1.283
X8 5.5 0.998
X9 Y2 0.428
X9 Y3 0.855
X9 Y4 0.962
X9 5.5 0.321
X9 5.5 0.428
X9 Y5 1.283
X11 Y2 0.143
X11 Y3 0.285
X11 Y4 0.321
X1l 5.5 0.107
X1l 5.5 0.143
X11 Y5 0.428 15.470
0.500 > 2.000 < 1.475 1.475
2.000 = 10.250 0.500
0.800
1.547
X8 Y6 1.437
X9 Y6 0.633
X9 Y6 0.422
X10 Y6 0.083
X11 Y6 0.422 27.318| 44.498
X8 Y6 [ 2R 1.520 > 1.500 2.280 2.280
0.500 > 0.500 < 1.375 0.344
0.250 > 1.000 0.250
X8 Y5 1.437
X8 Y7 1.437
X8 Y7 [2R 1.520 > 1.500 2.280 2.280
0.500 > 0.500 < 1.375 0.344
0.250 > 3.000 0.750
X9 Y7 1.710
X11 Y7 0.570 3.374
0.500 > 0.500 > 1.475 0.369
2.000 > 2.250 4.500
0.516
X8 Y6 1.437
X9 Y6 0.633 7.454| 13.108
X8 Y8 1.000 > 1.000 > 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 > 1.475 1.475
0.500 > 0.500 > 1.475 0.369
2.000 > 0.500 1.000
1.375 4.219|  7.239
X9 Y1 1.000 > 1.500 > 1.375 2.063
1.520 > 1.500 2.280
0.250 > 0.750 0.188 4.530
1.000 > 1.500 > 1.475 2.213
2.000 > 0.750 1.500
2.063 5.775| 10.305
X9 Y2 [ 2R 1.520 > 1.500 2.280
X8 Y1 1.283
X8 Y5 0.428
X12 Y2 0.570
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> 0(kN) ®y [= &
X9 ¥Y3 [ 2R 1.520 > 1.500 2.280
X8 Y1 0.855
X8 Y5 0.855
X12 Y3 0.570
X9 Y4 [2R 1.520 > 1.125 1.710
X8 Y1 0.321
X8 Y5 0.962
X12 Y4 0.428
X9  5.5[2R 1.520 > 0.750 1.140
X8 Y1 0.107
X8 Y5 0.321
X12 Y4 0.143
X8 Y5 0.428
X12 Y5 0.143
X9 Y5 [ 2R 1.520 >< 1.125 1.710
X8 Y5 1.283
X12 Y5 0.428
X9 Y6 [2R 1.520 > 1.500 2.280 2.280
0.250 > 1.000 0.250
X8 Y5 0.633
X8 Y7 0.633
X8 Y5 0.422
X12 Y5 0.422
X10 Y8 0.422
X9 Y7 [ 2R 1.520 > 1.500 2.280
X8 Y7 1.710
X12 Y7 0.570
X9 Y8 1.000 > 1.000 < 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 < 1.475 1.475
2.000 > 0.500 1.000
1.375 3.850|  6.870
X10 Y6 0.250 > 1.000 0.250
X8 Y5 0.083
X12 Y5 0.083
X10 Y8 0.083
X10 Y8 1.000 > 1.000 > 1.375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 > 1.475 1.475
2.000 > 1.250 2.500
3.700 > 1.250 4.625
3.200
1.375
X9 Y6 0.422
X10 Y6 0.083
X11 Y6 0.422 14.102| 17.122
X11 Y1 1.000 > 1.500 > 1.375 2.063
1.520 > 1.500 2.280
0.250 > 0.750 0.188 4.530
1.000 > 1.500 > 1.475 2.213
2.000 > 0.750 1.500
2.063 5.775| 10.305
X11 Y2 [ 2R 1.520 > 1.500 2.280
X8 Y1 0.428
X8 Y5 0.143
X12 Y2 1.710
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> 0(kN) ®y [= &
X11 Y3 [ 2R 1.520 > 1.500 2.280
X8 Y1 0.285
X8 Y5 0.285
X12 Y3 1.710
X11 Y4 [ 2R 1.520 > 1.125 1.710
X8 Y1 0.107
X8 Y5 0.321
X12 Y4 1.283
X11  5.5[ 2R 1.520 > 0.750 1.140
X8 Y1 0.036
X8 Y5 0.107
X12 Y4 0.428
X8 Y5 0.143
X12 Y5 0.428
X11 Y5 [ 2R 1.520 >< 1.125 1.710
X8 Y5 0.428
X12 Y5 1.283
X11 Y6 [ 2R 1.520 > 1.500 2.280 2.280
0.250 > 1.000 0.250
X8 Y5 0.422
X12 Y5 0.422
X10 Y8 0.422
X12 Y6 1.265
X11 Y7 [ 2R 1.520 > 1.500 2.280
X8 Y7 0.570
X12 Y7 1.710
X11 Y8 1.000 > 1.000 .375 1.375
1.520 > 1.000 1.520
0.250 > 0.500 0.125 3.020
1.000 > 1.000 .475 1.475
3.700 >< 0.500 1.850
1.375 4.700|  7.720
X12 Y1 1.000 > 1.000 .375 1.375
1.520 > 0.950 1.444
0.250 > 0.250 0.063 2.881
1.000 > 1.000 .475 1.475
2.000 > 0.250 0.500
1.375 3.350|  6.232
X12 2 [ 2R 1.520 > 0.950 1.444 1.444
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y2 0.570
X11 Y2 1.710 4.155
1.000 > 1.000 .475 1.475
2.000 > 2.000 4.000
1.375 6.850 | 12.449
X12 Y3 [ 2R 1.520 > 0.950 1.444 1.444
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y3 0.570
X11 Y3 1.710 4.155
1.000 > 1.000 .475 1.475
2.000 > 2.000 4.000
1.375 6.850 | 12.449
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> 0(kN) ®y [= &
X12 Y4 [ 2R 1.520 > 0.712 1.083 1.083
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y4 0.428
X9 5.5 0.143
X11 Y4 1.283
X1l 5.5 0.428
X12 5.5 0.361 4.516
1.000 > 1.000 475 1.475
2.000 > 2.000 4.000
1.375 6.850 | 12.449
X12  5.5[ 2R 1.520 > 0.475 0.722
X12 Y4 0.361
X12 Y5 0.361
X12 Y5 [ 2R 1.520 >< 0.712 1.083 1.083
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 5.5 0.143
X9 Y5 0.428
X1l 5.5 0.428
X11 Y5 1.283
X12 5.5 0.361 4.516
1.000 > 1.000 475 1.475
2.000 > 2.500 5.000
3.700 > 0.500 1.850
0.800
1.375
X9 Y6 0.422
X10 Y6 0.083
X11 Y6 0.422 11.427| 17.026
X12 Y6 [ 2R 1.520 > 0.950 1.444 1.444
1.000 > 1.000 .375 1.375
0.250 > 0.500 0.125 1.500
1.000 > 1.000 .475 1.475
2.000 > 0.500 1.000
3.700 > 0.500 1.850
1.375
X11 Y6 1.265 6.965|  9.909
x12 Y7 [ 2R 1.520 > 0.950 1.444 1.444
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y7 0.570
X11 Y7 1.710 4.155
1.000 > 1.000 .475 1.475
3.700 > 1.000 3.700
1.375 6.550 | 12.149
X12 Y8 1.000 > 1.000 .375 1.375
1.520 > 0.950 1.444
0.250 > 0.250 0.063 2.881
1.000 > 1.000 .475 1.475
3.700 > 0.250 0.925
1.375 3.775|  6.657
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(©)
> 0(kN) ®) [= &
XL Y1 1.000 > 1.000 .375 1.375
0.920 > 0.950 0.874
0.250 > 0.250 0.063 2.312
1.000 > 1.000 .475 1.475
1.300 > 0.250 0.325
1.375 3.175|  5.487
XL Y2 [ 2R 0.920 > 1.200 1.104 1.104
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
$X3$ Y2 0.690 2.440
1.000 > 1.000 475 1.475
1.300 > 1.500 1.950
1.375 4.800| 8.344
XL Y3 [ 2R 0.920 > 1.200 1.104 1.104
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
$X3$ Y3 0.690 2.440
1.000 >< 1.000 .475 1.475
1.300 > 1.500 1.950
1.375 4.800| 8.344
XL Y4 [2R 0.920 > 0.900 0.828 0.828
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
XL 5.5 0.276
$X3$ Y4 0.518
$X3$ 5.5 0.173 2.716
1.000 > 1.000 .475 1.475
1.300 > 1.500 1.950
1.375 4.800| 8.344
X1  5.5[2R 0.920 > 0.600 0.552
XL Y4 0.276
XL Y5 0.276
X1 Y5 [2R 0.920 > 0.900 0.828 0.828
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
X1 5.5 0.276
$X3$ 5.5 0.173
$X3$ Y5 0.518 2.716
1.000 > 1.000 .475 1.475
1.300 > 2.000 2.600
2.750
XL Y6 2.363
XL Y7 1.181 10.369| 13.913
XL Y6 [ 2R 0.920 > 1.200 1.104 1.104
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
$X3$ Y6 0.690
XL Y5 2.363
XL Y8 1.181
XL Y7 [ 2R 0.920 > 1.200 1.104 1.104
1.000 > 1.000 .375 1.375
0.250 > 1.500 0.375
$X3$ Y7 0.690
XL Y5 1.181
XL Y8 2.363
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> 0(kN) ®y [= &
XL Y8 1.000 > 1.000 < 1.375 1.375
0.920 > 0.950 0.874
0.250 > 0.250 0.063 2.312
1.000 > 0.500 > 1.475 0.738
1.300 > 1.750 2.275
2.750
XL Y6 1.181
XL Y7 2.363 9.307| 11.618
X2 Y1 1.000 > 1.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 < 1.475 1.475
1.300 >< 0.500 0.650
1.375 3.500|  5.920
X2 Y5 1.000 > 1.500 < 1.475 2.213
1.300 > 1.500 1.950 4.163
X2 Y8 1.000 > 1.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 > 1.475 1.475
1.300 >< 0.500 0.650
1.375 3.500|  5.920
$X3$ Y2 [ 2R 0.920 > 1.500 1.380
XL Y2 0.690
X4 Y1 0.518
X4 Y5 0.173
$X3$ Y3 [ 2R 0.920 > 1.500 1.380
XL Y3 0.690
X4 Y1 0.345
X4 Y5 0.345
$X3$ Y4 [ 2R 0.920 >< 1.125 1.035
XL Y4 0.518
X4 Y1 0.129
X4 Y5 0.388
$X3$ 2R 0.920 > 0.750 0.690
XL Y4 0.173
X4 Y1 0.043
X4 Y5 0.129
XL Y5 0.173
X4 Y5 0.173
$X3$ Y5 [ 2R 0.920 > 1.125 1.035
XL Y5 0.518
X4 Y5 0.518
$X3$ Y6 [ 2R 0.920 > 1.500 1.380
XL Y6 0.690
X4 Y6 0.690
$X3$ Y7 [ 2R 0.920 > 1.500 1.380
XL Y7 0.690
X4 Y7 0.690
X3 Y1 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 > 1.475 1.475
1.300 > 0.500 0.650
1.375 3.500|  5.920
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> 0(kN) ®y [= &
X3 Y8 1.000 > 1.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 < 1.475 1.475
1.300 > 0.500 0.650
1.375 3.500|  5.920
X4 Y1 1.000 > 1.000 < 1.375 1.375
0.500 > 2.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 5.750 1.438
$X3$ Y2 0.518
$X3$ Y3 0.345
$X3$ Y4 0.129
$X3$ 5.5 0.043
X4 Y2 1.208
X4 Y3 0.805
X4 Y4 0.302
X4 5.5 0.101
X6 Y2 0.690
X6 Y3 0.460
X6 Y4 0.173
X6 5.5 0.058 9.938
1.000 > 1.000 > 1.475 1.475
0.500 > 2.000 < 1.475 1.475
1.300 > 5.750 7.475
1.375
1.375 13.175| 23.113
X4 Y2 [ 2R .920 .750 1.610
X4 Y1 1.208
X4 Y5 0.403
X4 Y3 [ 2R .920 .750 1.610
X4 Y1 0.805
X4 Y5 0.805
X4 Y4 [ 2R .920 .313 1.208
X4 Y1 0.302
X4 Y5 0.906
X4 2R .920 .875 0.805
X4 Y1 0.101
X4 Y5 0.704
x4 Y5 [2R .920 .313 1.208 1.208
.500 > 2.000 > 1.375 1.375
.250 > 7.750 1.938
$X3$ Y2 0.173
$X3$ Y3 0.345
$X3$ Y4 0.388
$X3$ 5.5 0.129
$X3$ 5.5 0.173
$X3$ Y5 0.518
X4 Y2 0.403
X4 Y3 0.805
X4 Y4 0.906
X4 5.5 0.704
X6 Y2 0.230
X6 Y3 0.460
X6 Y4 0.518
X6 5.5 0.173 9.235
1.000 > 1.500 > 1.475 2.213
0.500 > 2.000 > 1.475 1.475
1.300 > 6.500 8.450
1.375 13.513| 23.955




> 0(kN) ®y [= &
X4 Y6 [ 2R 0.920 > 1.750 1.610 1.610
0.250 > 2.500 0.625
$X3$ Y6 0.690 1.315
1.000 > 1.000 .475 1.475
1.300 > 2.000 2.600 4.075|  7.000
X4 Y7 [ 2R 0.920 >< 1.750 1.610 1.610
0.250 > 2.500 0.625
$X3$ Y7 0.690 1.315
1.000 > 1.000 .475 1.475
1.300 >< 2.250 2.925 4.400| 7.325
X4 Y8 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.500 .475 2.213
1.300 >< 0.750 0.975
1.375 4.563|  6.933
X5 Y1 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.500 475 2.213
1.300 > 0.750 0.975
2.063
X6 Y1 1.210 6.460|  8.880
X5 Y5 0.500 > 1.500 475 1.106
1.300 >< 0.750 0.975
0.172
X6 Y5 1.279 3.533
X5 Y6 0.500 > 1.000 .475 0.738
1.300 > 1.000 1.300 2.038
X5 Y7 0.500 > 0.500 .475 0.369
1.300 > 0.500 0.650 1.019
X5 Y8 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 .475 1.475
1.375 2.850|  5.270
X6 Y1 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125
X5 Y1 1.210
X7 Y1 1.210
X6 Y2 [ 2R 0.920 > 2.000 1.840
X4 Y1 0.690
X4 Y5 0.230
X8 Y1 0.690
X8 Y5 0.230
X6 Y3 [ 2R 0.920 > 2.000 1.840
X4 Y1 0.460
X4 Y5 0.460
X8 Y1 0.460
X8 Y5 0.460
X6 Y4 [ 2R 0.920 > 1.500 1.380
X4 Y1 0.173
X4 Y5 0.518
X8 Y1 0.173
X8 Y5 0.518

99



< 0(kN) &Ny [ = k)
X6 5.5[ 2R 0.920 > 1.000 0.920
X4 Y1 0.058
X4 Y5 0.173
X8 Y1 0.058
X8 Y5 0.173
X6 Y5 0.460
X6 Y5 2R 0.920 =< 1.500 1.380 .380
0.500 > 0.500 < 1.375 0.344
0.250 > 1.500 0.375
X6 5.5 0.460
X5 Y5 1.279
X7 Y5 1.279
X6 Y6 2R 0.920 =< 2.000 1.840 .840
0.250 > 1.500 0.375 .375
0.500 > 1.000 > 1.475 0.738
1.300 > 1.000 1.300 .038 4.253
X6 Y7 2R 0.920 =< 2.000 1.840 .840
0.250 > 2.000 0.500 .500
0.500 > 1.000 > 1.475 0.738
1.300 > 1.250 1.625 .363 4.703
X6 Y8 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 .420
1.000 > 1.000 > 1.475 1.475
0.500 > 0.500 > 1.475 0.369
1.300 > 0.750 0.975
1.375 .194 6.614
X7 Y1 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 .420
1.000 > 1.500 > 1.475 2.213
1.300 > 0.750 0.975
2.063
X6 Y1 1.210 .460 8.880
X7 Y5 0.500 > 0.500 < 1.375 0.344
0.250 > 1.000 0.250 .594
0.500 > 1.500 > 1.475 1.106
1.300 > 1.500 1.950
0.516
X6 Y5 1.279 .851 5.445
X7 Y6 0.250 > 1.000 0.250 .250
0.500 > 2.000 > 1.475 1.475
1.300 > 1.500 1.950
2.400 .825 6.075
X7 Y8 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 .420
1.000 > 1.000 > 1.475 1.475
0.500 > 1.000 > 1.475 0.738
1.300 > 1.000 1.300
2.400
1.375 .288 9.708
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> 0(kN) ®y [= &
X8 Y1 1.000 > 1.000 < 1.375 1.375
0.500 > 2.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 6.500 1.625
X6 Y2 0.690
X6 Y3 0.460
X6 Y4 0.173
X6 5.5 0.058
X8 Y2 1.035
X8 Y3 0.690
X8 Y4 0.259
X8 5.5 0.086
X9 Y2 0.776
X9 Y3 0.518
X9 Y4 0.194
X9 5.5 0.065
X11 Y2 0.259
X11 Y3 0.173
X11 Y4 0.065
X1l 5.5 0.022 10.815
1.000 > 1.000 < 1.475 1.475
0.500 > 2.000 < 1.475 1.475
1.300 >< 6.500 8.450
1.375
1.375 14.150| 24.965
X8 Y2 [ 2R 0.920 > 1.500 1.380
X8 Y1 1.035
X8 Y5 0.345
X8 Y3 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.690
X8 Y5 0.690
X8 Y4 [2R 0.920 >< 1.125 1.035
X8 Y1 0.259
X8 Y5 0.776
X8  5.5[2R 0.920 > 0.750 0.690
X8 Y1 0.086
X8 Y5 0.604

101



> 0(kN) ®y [= &
X8 Y5 [ 2R 0.920 > 1.125 1.035 1.035
0.500 > 2.000 < 1.375 1.375
0.250 > 8.500 2.125
X6 Y2 0.230
X6 Y3 0.460
X6 Y4 0.518
X6 5.5 0.173
X8 Y2 0.345
X8 Y3 0.690
X8 Y4 0.776
X8 5.5 0.604
X9 Y2 0.259
X9 Y3 0.518
X9 Y4 0.582
X9 5.5 0.194
X9 5.5 0.259
X9 Y5 0.776
X11 Y2 0.086
X11 Y3 0.173
X11 Y4 0.194
X1l 5.5 0.065
X1l 5.5 0.086
X11 Y5 0.259 10.745
0.500 > 2.000 < 1.475 1.475
1.300 > 10.250 3.325
0.800
1.547
X8 Y6 0.987
X9 Y6 0.408
X9 Y6 0.272
X10 Y6 0.083
X11 Y6 0.272 19.168| 30.948
X8 Y6 [ 2R 0.920 > 1.500 1.380 1.380
0.500 > 0.500 < 1.375 0.344
0.250 > 1.000 0.250
X8 Y5 0.987
X8 Y7 0.987
X8 Y7 [2R 0.920 > 1.500 1.380 1.380
0.500 > 0.500 < 1.375 0.344
0.250 > 3.000 0.750
X9 Y7 1.035
X11 Y7 0.345 2.474
0.500 > 0.500 > 1.475 0.369
1.300 > 2.250 2.925
0.516
X8 Y6 0.987
X9 Y6 0.408 5.204|  9.058
X8 Y8 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 > 1.475 1.475
0.500 > 0.500 > 1.475 0.369
1.300 > 0.500 0.650
1.375 3.860|  6.289
X9 Y1 1.000 > 1.500 > 1.375 2.063
0.920 > 1.500 1.380
0.250 > 0.750 0.188 3.630
1.000 > 1.500 > 1.475 2.213
1.300 > 0.750 0.975
2.063 5.250|  8.880
X9 Y2 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.776
X8 Y5 0.259
X12 Y2 0.345
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> 0(kN) ®y [= &
X9 ¥Y3 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.518
X8 Y5 0.518
X12 Y3 0.345
X9 Y4 [2R 0.920 > 1.125 1.035
X8 Y1 0.194
X8 Y5 0.582
X12 Y4 0.259
X9  5.5[2R 0.920 > 0.750 0.690
X8 Y1 0.065
X8 Y5 0.194
X12 Y4 0.086
X8 Y5 0.259
X12 Y5 0.086
X9 Y5 [ 2R 0.920 >< 1.125 1.035
X8 Y5 0.776
X12 Y5 0.259
X9 Y6 [2R 0.920 > 1.500 1.380 1.380
0.250 > 1.000 0.250
X8 Y5 0.408
X8 Y7 0.408
X8 Y5 0.272
X12 Y5 0.272
X10 Y8 0.272
X9 Y7 [ 2R 0.920 > 1.500 1.380
X8 Y7 1.035
X12 Y7 0.345
X9 Y8 1.000 > 1.000 < 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 < 1.475 1.475
1.300 >< 0.500 0.650
1.375 3.500|  5.920
X10 Y6 0.250 > 1.000 0.250
X8 Y5 0.083
X12 Y5 0.083
X10 Y8 0.083
X10 Y8 1.000 > 1.000 > 1.375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 > 1.475 1.475
1.300 > 1.250 1.625
3.000 > 1.250 3.750
3.200
1.375
X9 Y6 0.272
X10 Y6 0.083
X11 Y6 0.272 12.052| 14.472
X11 Y1 1.000 > 1.500 > 1.375 2.063
0.920 > 1.500 1.380
0.250 > 0.750 0.188 3.630
1.000 > 1.500 > 1.475 2.213
1.300 > 0.750 0.975
2.063 5.250|  8.880
X11 Y2 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.259
X8 Y5 0.086
X12 Y2 1.035
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> 0(kN) ®y [= &
X11 Y3 [ 2R 0.920 > 1.500 1.380
X8 Y1 0.173
X8 Y5 0.173
X12 Y3 1.035
X11 Y4 [ 2R 0.920 > 1.125 1.035
X8 Y1 0.065
X8 Y5 0.194
X12 Y4 0.776
X11  5.5[ 2R 0.920 > 0.750 0.690
X8 Y1 0.022
X8 Y5 0.065
X12 Y4 0.259
X8 Y5 0.086
X12 Y5 0.259
X11 Y5 [ 2R 0.920 >< 1.125 1.035
X8 Y5 0.259
X12 Y5 0.776
X11 Y6 [ 2R 0.920 > 1.500 1.380 1.380
0.250 > 1.000 0.250
X8 Y5 0.272
X12 Y5 0.272
X10 Y8 0.272
X12 Y6 0.815
X11 Y7 [ 2R 0.920 > 1.500 1.380
X8 Y7 0.345
X12 Y7 1.035
X11 Y8 1.000 > 1.000 .375 1.375
0.920 > 1.000 0.920
0.250 > 0.500 0.125 2.420
1.000 > 1.000 .475 1.475
3.000 >< 0.500 1.500
1.375 4.350|  6.770
X12 Y1 1.000 > 1.000 .375 1.375
0.920 > 0.950 0.874
0.250 > 0.250 0.063 2.311
1.000 > 1.000 .475 1.475
1.300 > 0.250 0.325
1.375 3.175|  5.487
X12 2 [ 2R 0.920 > 0.950 0.874 0.874
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y2 0.345
X11 Y2 1.035 3.255
1.000 > 1.000 .475 1.475
1.300 > 2.000 2.600
1.375 5.450|  9.579
X12 Y3 [ 2R 0.920 > 0.950 0.874 0.874
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y3 0.345
X11 Y3 1.035 3.255
1.000 > 1.000 .475 1.475
1.300 > 2.000 2.600
1.375 5.450|  9.579
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> 0(kN) ®y [= &
X12 Y4 [ 2R 0.920 > 0.712 0.655 0.655
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y4 0.259
X9 5.5 0.086
X11 Y4 0.776
X1l 5.5 0.259
X12 5.5 0.218 3.474
1.000 > 1.000 475 1.475
1.300 > 2.000 2.600
1.375 5.450|  9.579
X12  5.5[ 2R 0.920 >< 0.475 0.437
X12 Y4 0.218
X12 Y5 0.218
X12 Y5 [ 2R 0.920 > 0.712 0.655 0.655
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 5.5 0.086
X9 Y5 0.259
X1l 5.5 0.259
X11 Y5 0.776
X12 5.5 0.218 3.474
1.000 > 1.000 475 1.475
1.300 > 2.500 3.250
3.000 >< 0.500 1.500
0.800
1.375
X9 Y6 0.272
X10 Y6 0.083
X11 Y6 0.272 9.027| 13.156
X12 Y6 [ 2R 0.920 > 0.950 0.874 0.874
1.000 > 1.000 .375 1.375
0.250 > 0.500 0.125 1.500
1.000 > 1.000 .475 1.475
1.300 > 0.500 0.650
3.000 > 0.500 1.500
1.375
X11 Y6 0.815 5.815|  8.189
x12 Y7 [ 2R 0.920 > 0.950 0.874 0.874
1.000 > 1.000 .375 1.375
0.250 > 2.000 0.500
X9 Y7 0.345
X11 Y7 1.035 3.255
1.000 > 1.000 .475 1.475
3.000 > 1.000 3.000
1.375 5.850|  9.979
X12 Y8 1.000 > 1.000 .375 1.375
0.920 > 0.950 0.874
0.250 > 0.250 0.063 2.311
1.000 > 1.000 .475 1.475
3.000 > 0.250 0.750
1.375 3.600|  5.912
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*
(kN) (kN) (kN) (kN) (kN)
X1 Y1 2.312 - 2.882 2.312 -
5.662 - 6.232 5.487 -
X1 Y2 2R 1.104 - 1.824 1.104 -
3.544 - 4.714 3.544 -
9.394 - 10.564 8.344 -
X1 Y3 2R 1.104 - 1.824 1.104 -
3.544 - 4.714 3.544 -
9.394 - 10.564 8.344 -
X1 Y4 2R 0.828 - 1.368 0.828 -
3.544 - 4.714 3.544 -
9.394 - 10.564 8.344 -
X1 55| 2R 0.552 - 0.912 0.552 -
X1 Y5 2R 0.828 - 1.368 0.828 -
3.544 - 4.714 3.544 -
15.313 - 17.653 13.913 -
X1 Y6 2R 1.104 - 1.824 1.104 -
3.544 - 4.714 3.544 -
X1 Y7 2R 1.104 - 1.824 1.104 -
3.544 - 4.714 3.544 -
X1 Y8 2.312 - 2.882 2.312 -
12.843 - 14.583 11.618 -
X2 Y1 2.420 - 3.020 2.420 -
6.270 - 6.870 5.920 -
X2 Y5 5.213 - 5.213 4.163 -
X2 Y8 2.420 - 3.020 2.420 -
6.270 - 6.870 5.920 -
$X3$ Y2 2R 1.380 - 2.280 1.380 -
$X3% Y3 2R 1.380 - 2.280 1.380 -
$X3$ Y4 2R 1.035 - 1.710 1.035 -
$X3%$ 5.5 2R 0.690 - 1.140 0.690 -
$X3$ Y5 2R 1.035 - 1.710 1.035 -
$X3% Y6 2R 1.380 - 2.280 1.380 -
$X3%$ Y7 2R 1.380 - 2.280 1.380 -
X3 Y1 2.420 - 3.020 2.420 -
6.270 - 6.870 5.920 -
X3 Y8 2.420 - 3.020 2.420 -
6.270 - 6.870 5.920 -
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(kN) (kN) (kN) (kN) (kN)
X4 Y1 9.938 - 13.688 9.938 -
27.138 - 30.888 23.113 -
X4 Y2 2R 1.610 - 2.660 1.610 -
X4 Y3 2R 1.610 - 2.660 1.610 -
X4 Y4 2R 1.208 - 1.995 1.208 -
X4 55| 2R 0.805 - 1.330 0.805 -
X4 Y5 2R 1.208 - 1.995 1.208 -
10.443 - 15.093 10.443 -
28.505 - 33.155 23.955 -
X4 Y6 2R 1.610 - 2.660 1.610 -
2.925 - 4.425 2.925 -
8.400 - 9.900 7.000 -
X4 Y7 2R 1.610 - 2.660 1.610 -
2.925 - 4.425 2.925 -
8.900 - 10.400 7.325 -
X4 Y8 2.420 - 3.020 2.420 -
7.508 - 8.108 6.983 -
X5 Y1 2.420 - 3.020 2.420 -
9.405 - 10.305 8.880 -
X5 Y5 4.058 - 4.658 3.533 -
X5 Y6 2.738 - 2.738 2.038 -
X5 Y7 1.369 - 1.369 1.019 -
X5 Y8 2.420 - 3.020 2.420 -
5.270 - 5.870 5.270 -
X6 Y1 2.420 - 3.020 2.420 -
X6 Y2 2R 1.840 - 3.040 1.840 -
X6 Y3 2R 1.840 - 3.040 1.840 -
X6 Y4 2R 1.380 - 2.280 1.380 -
X6 55| 2R 0.920 - 1.520 0.920 -
X6 Y5 2R 1.380 - 2.280 1.380 -
2.559 - 3.759 2.559 -
X6 Y6 2R 1.840 - 3.040 1.840 -
2.215 - 3.415 2.215 -
4.953 - 6.153 4.253 -
X6 Y7 2R 1.840 - 3.040 1.840 -
2.340 - 3.540 2.340 -
5.578 - 6.778 4.703 -
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(kN) (kN) (kN) (kN) (kN)
X6 Y8 2.420 - 3.020 2.420 -
7.139 - 7.739 6.614 -
X7 Y1 2.420 - 3.020 2.420 -
9.405 - 10.305 8.880 -
X7 Y5 0.594 - 0.594 0.594 -
6.495 - 7.095 5.445 -
X7 Y6 0.250 - 0.250 0.250 -
7.125 - 7.125 6.075 -
X7 Y8 2.420 - 3.020 2.420 -
10.408 - 11.008 9.708 -
X8 Y1 10.815 - 15.015 10.815 -
29.515 - 33.715 24.965 -
X8 Y2 2R 1.380 - 2.280 1.380 -
X8 Y3 2R 1.380 - 2.280 1.380 -
X8 Y4 2R 1.035 - 1.710 1.035 -
X8 55| 2R 0.690 - 1.140 0.690 -
X8 Y5 2R 1.035 - 1.710 1.035 -
11.780 - 17.180 11.780 -
38.123 - 44.498 30.948 -
X8 Y6 2R 1.380 - 2.280 1.380 -
1.974 - 2.874 1.974 -
X8 Y7 2R 1.380 - 2.280 1.380 -
3.854 - 5.654 3.854 -
10.633 - 13.108 9.058 -
X8 Y8 2.420 - 3.020 2.420 -
6.639 - 7.239 6.289 -
X9 Y1 3.630 - 4.530 3.630 -
9.405 - 10.305 8.880 -
X9 Y2 2R 1.380 - 2.280 1.380 -
X9 Y3 2R 1.380 - 2.280 1.380 -
X9 Y4 2R 1.035 - 1.710 1.035 -
X9 55| 2R 0.690 - 1.140 0.690 -
X9 Y5 2R 1.035 - 1.710 1.035 -
X9 Y6 2R 1.380 - 2.280 1.380 -
1.630 - 2.530 1.630 -
X9 Y7 2R 1.380 - 2.280 1.380 -
X9 Y8 2.420 - 3.020 2.420 -
6.270 - 6.870 5.920 -
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(kN) (kN) (kN) (kN) (kN)

X10 Y6 0.250 - 0.250 0.250 -
X10 Y8 2.420 - 3.020 2.420 -
16.222 - 17.122 14_472 -

X11 Y1 3.630 - 4.530 3.630 -
9.405 - 10.305 8.880 -

X11 Y2 2R 1.380 - 2.280 1.380 -
X11 Y3 2R 1.380 - 2.280 1.380 -
X11 Y4 2R 1.035 - 1.710 1.035 -
X11 55| 2R 0.690 - 1.140 0.690 -
X11 Y5 2R 1.035 - 1.710 1.035 -
X11 Y6 2R 1.380 - 2.280 1.380 -
1.630 - 2.530 1.630 -

X11 Y7 2R 1.380 - 2.280 1.380 -
X11 Y8 2.420 - 3.020 2.420 -
7.120 - 7.720 6.770 -

X12 Y1 2.311 - 2.881 2.311 -
5.662 - 6.232 5.487 -

X12 Y2 2R 0.874 - 1.444 0.874 -
4.129 - 5.599 4.129 -

10.979 - 12.449 9.579 -

X12 Y3 2R 0.874 - 1.444 0.874 -
4.129 - 5.599 4.129 -

10.979 - 12.449 9.579 -

X12 Y4 2R 0.655 - 1.083 0.655 -
4.129 - 5.599 4.129 -

10.979 - 12.449 9.579 -

X12 55| 2R 0.437 - 0.722 0.437 -
X12 Y5 2R 0.655 - 1.083 0.655 -
4.129 - 5.599 4.129 -

15.256 - 17.026 13.156 -

X12 Y6 2R 0.874 - 1.444 0.874 -
2.374 - 2.944 2.374 -

8.889 - 9.909 8.189 -

X12 Y7 2R 0.874 - 1.444 0.874 -
4.129 - 5.599 4.129 -

10.679 - 12.149 9.979 -
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(kN) (kN) (kN) (kN) (kN)
X12 Y8 2.311 - 2.881 2.311 -
6.087 - 6.657 5.912 -
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3.2.
3.2.
(Ns,
(Vs, )
1 Ns Ms
(cm) Q) Q) (N-m)
X1 Yl 12.0 E70 5662 | 46546 631.7 .13 0.60 0.22 .72 0K
3.0x 6.5 E70 6232 | x 252.7 0.10 0.38
y 252.7 0.43
X1 Y2 12.0 E50 9394 | 39559 1263.5 .21 0.48 0.39 .61 OK
3.0x 6.5 E70 10564 | x 505.4 0.16 0.22
X1 Y3 12.0 E50 9394 9394 1263.5 .21 0.11 0.39 .26 0K
3.0x 6.5 E70 10564 | x 505.4 0.16 0.22
X1 Y4 12.0 E50 9394 | 39559 1263.5 .21 0.48 0.39 .61 0K
3.0x 6.5 E70 10564 | x 505.4 0.16 0.22
X1 Y5 12.0 E70 15313 | 42805 631.7 .36 0.55 0.35 .66 0K
3.0x 6.5 E70 17653 | x 252.7 0.28 0.43
y 252.7 0.52
X1 Y8 12.0 E70 12843 | 53727 631.7 .30 0.69 0.31 .83 0K
3.0x 6.5 E70 14583 |y 252.7 0.23 0.26
X2 Y1 12.0 E50 6270 | 45505 1263.5 .14 0.55 0.35 .70 OK
3.0x 6.5 E70 6870y 505.4 0.10 0.19
X2 Y5 12.0 E50 5213 | 31055 1895.2 11 0.37 0.47 .48 0K
3.0x 6.5 E70 5213y 758.1 0.08 0.23
X2 Y8 12.0 E50 6270 | 47154 1263.5 .14 0.57 0.35 .73 OK
3.0x 6.5 E70 6870y 505.4 0.10 0.19
X3 Y1 12.0 E50 6270 | 37257 1263.5 .14 0.45 0.35 .58 0K
3.0x 6.5 E70 6870y 505.4 0.10 0.19
X3 Y8 12.0 E50 6270 | 47154 1263.5 .14 0.57 0.35 .73 OK
3.0x 6.5 E70 6870y 505.4 0.10 0.19
X4 Y1 12.0 E50 27138 | 47802 1263.5 .60 0.58 0.60 .76 OK
3.0x 6.5 E70 30888 |y 505.4 0.47 0.63
X4 Y5 12.0 E50 28505 | 49169 1263.5 .63 0.59 0.62 .80 OK
3.0x 6.5 E70 33155 | x 252.7 0.50 0.40
y 505.4 0.65
X4 Y6 12.0 E50 8400 | 30434 1263.5 .18 0.37 0.38 47 0K
3.0x 6.5 E70 9900 [ x 505.4 0.15 0.21
X4 Y7 12.0 E50 8900 8900 1263.5 .20 0.11 0.38 .25 OK
3.0x 6.5 E70 10400 | x 505.4 0.16 0.22
X4 Y8 12.0 E70 7508 | 48392 1263.5 .18 0.62 0.39 .75 OK
3.0x 6.5 E70 8108 | x 252.7 0.13 0.41
y 505.4 0.44
X5 Yl 12.0 E50 9405 | 50289 1895.2 .21 0.61 0.52 .78 0K
3.0x 6.5 E70 10305y 758.1 0.16 0.28
X5 Y5 12.0 E50 4058 4058 0.0 .09 0.05 11 0K
3.0x 6.5 E70 4658 0.07
X5 Y6 12.0 E50 2738 2738 0.0 .06 0.03 .08 0K
3.0x 6.5 E70 2738 0.04
X5 Y7 12.0 E70 1369 1369 0.0 .03 0.02 .04 OK
3.0x 6.5 E70 1369 0.02
X5 Y8 12.0 E50 5270 5270 1263.5 .12 0.06 0.34 .15 OK
3.0x 6.5 E70 5870y 505.4 0.09 0.17
X6 Y6 12.0 E50 4953 | 26946 0.0 11 0.33 .42 0K
3.0x 6.5 E70 6153 0.09
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NI Ns Ms
(cm) ) Q) (N -m)

X6 Y7 12.0 E50 5578 5578 0.0 .12 0.07 .16 0K
3.0x 6.5 E70 6778 0.10

X6 Y8 12.0 E50 7139 7139 1263.5 .16 0.09 0.36 .20 0K
3.0x 6.5 E70 7739y 505.4 0.12 0.20

X7 Y1 12.0 E50 9405 40392 1895.2 .21 0.49 0.52 .62 0K
3.0x 6.5 E70 10305y 758.1 0.16 0.28

X7 Y5 12.0 E50 6495 28529 0.0 .14 0.34 .44 0K
3.0x 6.5 E70 7095 0.11

X7 Y6 12.0 E50 7125 29159 0.0 .16 0.35 .45 0K
3.0x 6.5 E70 7125 0.11

X7 Y8 12.0 E50 10408 | 10408 1263.5 .23 0.13 0.40 .29 0K
3.0x 6.5 E70 11008 |y 505.4 0.17 0.24

X8 Y1 12.0 E50 29515 | 50179 1263.5 .65 0.61 0.63 .83 OK
3.0x 6.5 E70 33715| y 505.4 0.51 0.66

X8 Y5 12.0 E50 38123 | 58787 0.0 .84 0.71 .07 | NG
3.0x 6.5 E70 44498 0.67

X8 Y7 12.0 E50 10633 | 32666 0.0 .23 0.39 .50 OK
3.0x 6.5 E70 13108 0.20

X8 Y8 12.0 E70 6639 | 47523 1263.5 .16 0.61 0.38 .73 0K
3.0x 6.5 E70 7239y 505.4 0.12 0.43

X9 VY1 12.0 E50 9405 48640 1895.2 .21 0.59 0.52 .75 OK
3.0x 6.5 E70 10305y 758.1 0.16 0.28

X9 Y8 12.0 E50 6270 | 47154 1263.5 .14 0.57 0.35 .73 OK
3.0x 6.5 E70 6870y 505.4 0.10 0.19

X10 Y8 12.0 E50 16222 | 29614 1263.5 .36 0.36 0.47 .46 OK
3.0x 6.5 E70 17122 |y 505.4 0.26 0.31

X11 VY1 12.0 E50 9405 | 48640 1895.2 .21 0.59 0.52 .75 OK
3.0x 6.5 E70 10305y 758.1 0.16 0.28

X11 VY8 12.0 E50 7120 | 32962 1263.5 .16 0.40 0.36 .51 OK
3.0x 6.5 E70 7720y 505.4 0.12 0.20

X12 Y1 12.0 E70 5662 | 46546 631.7 .13 0.60 0.22 .72 OK
3.0x 6.5 E70 6232 | x 252.7 0.10 0.38

y 252.7 0.13

X12 Y2 10.5 E50 10979 | 41144 1263.5 .43 0.89 0.65 .87 OK
3.0x 6.5 E70 12449 | x 505.4 0.34 0.40

X12 Y3 10.5 E50 10979 | 10979 1263.5 .43 0.24 0.65 .42 OK
3.0x 6.5 E70 12449 | x 505.4 0.34 0.40

X12 Y4 10.5 E50 10979 | 41144 1263.5 .43 0.89 0.65 .87 OK
3.0x 6.5 E70 12449 | x 505.4 0.34 0.40

X12 Y5 12.0 E70 15256 | 45420 1263.5 .36 0.58 0.49 .70 0K
3.0x 6.5 E70 17026 | x 505.4 0.27 0.32

X12 Y6 10.5 E50 8889 | 39054 1263.5 .35 0.84 0.60 .83 OK
3.0x 6.5 E70 9909 | x 505.4 0.27 0.36

X12 Y7 10.5 E50 10679 | 40844 1263.5 .42 0.88 0.64 .87 OK
3.0x 6.5 E70 12149 | x 505.4 0.33 0.39

X12 Y8 12.0 E70 6087 | 46971 631.7 .14 0.60 0.23 .73 OK
3.0x 6.5 E70 6657 | x 252.7 0.11 0.39

y 252.7 0.44
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(Ns,
(Vs, )
| Ns Ms
(cm) Q) Q) (N-m)
X1 Yl 12.0 E70 2312 | 15704 549.0 .05 0.18 0.16 OK
2882 | x 219.6 0.04 0.15
y 219.6 0.18
X1 Y2 12.0 E50 3544 | 16081 1097.9 .07 0.17 0.28 .32 0K
3.0x 6.5 E50 4714 | x 439.2 0.06 0.13
X1 Y3 12.0 E50 3544 3544 1097.9 .07 0.04 0.28 .13 0K
3.0x 6.5 E50 4714 | x 439.2 0.06 0.13
X1 Y4 12.0 E50 3544 | 16081 1097.9 .07 0.17 0.28 .32 0K
3.0x 6.5 E50 4714 x 439.2 0.06 0.13
X1 Y5 12.0 E70 3544 | 16081 1097.9 .07 0.18 0.30 0K
4714 | x 439.2 0.07 0.14
X1 Y6 12.0 E50 3544 3544 1097.9 .07 0.04 0.28 .13 0K
3.0x 6.5 E50 4714 | x 439.2 0.06 0.13
X1 Y7 12.0 E50 3544 | 16081 1097.9 .07 0.17 0.28 .32 0K
3.0x 6.5 E50 4714 | x 439.2 0.06 0.13
X1 Y8 12.0 E70 2312 | 15704 549.0 .05 0.18 0.16 0K
2882 | x 219.6 0.04 0.15
y 219.6 0.18
X2 Y1 12.0 E50 2420 | 15812 1097.9 .05 0.17 0.26 .32 OK
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X2 Y8 12.0 E50 2420 | 15812 1097.9 .05 0.17 0.26 .32 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X3 Y1 12.0 E50 2420 | 15812 1097.9 .05 0.17 0.26 .32 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X3 Y8 12.0 E50 2420 | 15812 1097.9 .05 0.17 0.26 .32 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X4 Y1 12.0 E50 9938 | 17382 1097.9 .19 0.19 0.34 .36 0K
3.0x 6.5 E50 13688 |y 439.2 0.18 0.26
X4 Y5 12.0 E50 10443 | 17887 0.0 .20 0.19 .38 0K
3.0x 6.5 E50 15093 0.20
X4 Y6 12.0 E50 2925 2925 0.0 .06 0.03 11 0K
3.0x 6.5 E50 4425 0.06
X4 Y7 12.0 E50 2925 2925 0.0 .06 0.03 11 OK
3.0x 6.5 E50 4425 0.06
X4 Y8 12.0 E70 2420 | 15812 1097.9 .05 0.18 0.29 OK
3020y 439.2 0.04 0.13
X5 Y1 12.0 E50 2420 | 15812 1097.9 .05 0.17 0.26 .32 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X5 Y8 12.0 E50 2420 2420 1097.9 .05 0.03 0.26 .09 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X6 Y1 12.0 E50 2420 2420 1097.9 .05 0.03 0.26 .09 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X6 Y5 12.0 E50 2559 2559 0.0 .05 0.03 .09 0K
3.0x 6.5 E50 3759 0.05
X6 Y6 12.0 E50 2215 2215 0.0 .04 0.02 .09 OK
3.0x 6.5 E50 3415 0.05
X6 Y7 12.0 E50 2340 2340 0.0 .05 0.03 .09 0K
3.0x 6.5 E50 3540 0.05
X6 Y8 12.0 E50 2420 2420 1097.9 .05 0.03 0.26 .09 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
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NI Ns Ms
(cm) ) Q) (N -m)
X7 Y1 12.0 E50 2420 15812 1097.9 .05 0.17 0.26 .32 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X7 Y5 12.0 E50 594 594 0.0 .01 0.01 .02 0K
3.0x 6.5 E50 594 0.01
X7 Y6 12.0 E50 250 250 0.0 .00 0.00 .01 0K
3.0x 6.5 E50 250 0.00
X7 Y8 12.0 E50 2420 2420 1097.9 .05 0.03 0.26 .09 0K
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X8 Y1 12.0 E50 10815 | 18259 1097.9 .21 0.20 0.35 .39 0K
3.0x 6.5 E50 15015y 439.2 0.20 0.27
X8 Y5 12.0 E50 11780 | 19224 0.0 .23 0.21 .43 0K
3.0x 6.5 E50 17180 0.23
X8 Y6 12.0 E50 1974 1974 0.0 .04 0.02 .07 OK
3.0x 6.5 E50 2874 0.04
X8 Y7 12.0 E50 3854 3854 0.0 .07 0.04 .14 0K
3.0x 6.5 E50 5654 0.08
X8 Y8 12.0 E70 2420 15812 1097.9 .05 0.18 0.29 OK
3020y 439.2 0.04 0.13
X9 VY1 12.0 E50 3630 17022 1646.9 .07 0.18 0.40 .34 0K
3.0x 6.5 E50 4530y 658.8 0.06 0.18
X9 Y6 12.0 E50 1630 1630 0.0 .03 0.02 .06 OK
3.0x 6.5 E50 2530 0.03
X9 Y8 12.0 E50 2420 15812 1097.9 .05 0.17 0.26 .32 OK
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X10 Y6 12.0 E50 250 250 0.0 .00 0.00 .01 OK
3.0x 6.5 E50 250 0.00
X10 Y8 12.0 E50 2420 15812 1097.9 .05 0.17 0.26 .32 OK
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X11 Y1 12.0 E50 3630 17022 1646.9 .07 0.18 0.40 .34 OK
3.0x 6.5 E50 4530y 658.8 0.06 0.18
X11 Y6 12.0 E50 1630 1630 0.0 .03 0.02 .06 OK
3.0x 6.5 E50 2530 0.03
X11 VY8 12.0 E50 2420 2420 1097.9 .05 0.03 0.26 .09 OK
3.0x 6.5 E50 3020y 439.2 0.04 0.12
X12 Y1 12.0 E70 2312 15704 549.0 .05 0.18 0.16 OK
2882 | x 219.6 0.04 0.15
y 219.6 0.08
X12 Y2 12.0 E50 4129 | 16666 1097.9 .08 0.18 0.28 .33 OK
3.0x 6.5 E50 5599 | x 439.2 0.07 0.14
X12 Y3 12.0 E50 4129 4129 1097.9 .08 0.04 0.28 .15 0K
3.0x 6.5 E50 5599 | x 439.2 0.07 0.14
X12 Y4 12.0 E50 4129 | 16666 1097.9 .08 0.18 0.28 .33 OK
3.0x 6.5 E50 5599 | x 439.2 0.07 0.14
X12 Y5 12.0 E70 4129 | 16666 1097.9 .09 0.19 0.30 0K
5599 | x 439.2 0.08 0.15
X12 Y6 12.0 E50 2374 14911 1097.9 .05 0.16 0.26 .30 OK
3.0x 6.5 E50 29441 x 439.2 0.04 0.12
X12 Y7 12.0 E50 4129 | 16666 1097.9 .08 0.18 0.28 .33 OK
3.0x 6.5 E50 5599 | x 439.2 0.07 0.14




136

NI Ns Ms
(cm) ) Q) (N -m)
X12 Y8 12.0 E70 2312 15704 549.0 0.05 0.18 0.16 OK
2882 | x 219.6 0.04 0.15
y 219.6 0.18
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3.3.
3.3.
Z=200%) A=20%) 1 =20(%)
(cm) (cm)
Y1 X1 - X2 E50 12.0 30.0 0.04 0.15 0.02 oK
Y1 X2 - X3 E50 12.0 30.0 0.04 0.15 0.02 0K
Y1 X3 - X4 E50 12.0 30.0 0.04 0.15 0.02 oK
Y1 X4 - X5 E50 12.0 30.0 0.04 0.15 0.02 oK
Y1 X5 - X7 E50 12.0 30.0 0.25 0.40 0.26 oK
Y1 X7 - X8 E50 12.0 30.0 0.04 0.15 0.02 oK
Y1 X8 - X9 E50 12.0 30.0 0.04 0.15 0.02 oK
Y1 X9 - X11 E50 12.0 30.0 0.15 0.30 0.17 oK
Y1 X11 - X12 E50 12.0 30.0 0.04 0.15 0.02 oK
Y2 X1 - X4 E50 12.0 30.0 0.18 0.24 0.21 oK
Y2 X4 - X8 E50 12.0 30.0 0.32 0.32 0.50 oK
Y2 X8 - X12 E50 12.0 30.0 0.32 0.32 0.50 oK
Y3 X1 - X4 E50 12.0 30.0 0.18 0.24 0.21 oK
Y3 X4 - X8 E50 12.0 30.0 0.32 0.32 0.50 oK
Y3 X8 - X12 E50 12.0 30.0 0.32 0.32 0.50 oK
Y4 X1 - X4 E50 12.0 30.0 0.18 0.24 0.21 oK
Y4 X4 - X8 E50 12.0 30.0 0.32 0.32 0.50 oK
Y4 X8 - X12 E50 12.0 30.0 0.32 0.32 0.50 oK
Y5 XL - X2 E50 12.0 30.0 0.03 0.14 0.02 oK
Y5 X2 - X4 E50 12.0 30.0 0.14 0.27 0.13 oK
Y5 X4 - X5 E50 12.0 30.0 0.01 0.04 0.00 oK
Y5 X5 - X7 E50 12.0 30.0 0.22 0.32 0.21 oK
Y5 X7 - X8 E50 12.0 30.0 0.01 0.04 0.00 oK
Y5 X8 - X12 E50 12.0 45.0 0.44 0.42 0.45 oK
y5. X4 - X5 E50 12.0 30.0 0.00 0.00 0.00 oK
y5. X5 - X6 E50 12.0 30.0 0.00 0.00 0.00 oK
Y6 X1 - X4 E50 12.0 30.0 0.18 0.24 0.21 oK
Y6 X6 - X7 E50 12.0 12.0 0.05 0.07 0.07 oK
Y6 X7 - X8 E50 12.0 12.0 0.00 0.00 0.00 oK
Y6 X8 - X10 E50 12.0 21.0 0.29 0.32 0.37 oK
Y6 X10 - X12 E50 12.0 21.0 0.36 0.41 0.49 oK
Y7 X1 - x4 E50 12.0 30.0 0.18 0.24 0.21 oK
Y7 X6 - X7 E50 12.0 12.0 0.00 0.00 0.00 oK
Y7 X7 - X8 E50 12.0 12.0 0.00 0.00 0.00 oK
Y7 X8 - X10 E50 12.0 15.0 0.32 0.32 0.50 0K
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(cm) (cm)

Y7 X10 X12 ES0 12.0 21.0 0.30 0.42 0.42 OK
Y8 X1 X2 ES0 12.0 30.0 0.04 0.15 0.02 OK
Y8 X2 X3 ES0 12.0 30.0 0.04 0.15 0.02 OK
Y8 X3 X4 ES0 12.0 30.0 0.04 0.15 0.02 OK
Y8 X4 X5 ES0 12.0 30.0 0.03 0.11 0.02 OK
Y8 X5 X6 ES0 12.0 30.0 0.03 0.11 0.02 OK
Y8 X6 X7 ES0 12.0 30.0 0.03 0.11 0.02 OK
Y8 X7 X8 ES0 12.0 30.0 0.03 0.11 0.02 OK
Y8 X8 X9 ES0 12.0 30.0 0.04 0.15 0.02 OK
Y8 X9 X10 E50 12.0 30.0 0.04 0.15 0.02 OK
Y8 X10 X11 E50 12.0 30.0 0.05 0.19 0.03 OK
Y8 X11 X12 E50 12.0 30.0 0.05 0.19 0.03 OK
X1 Y1 Y2 ES0 12.0 30.0 0.03 0.11 0.02 OK
X1 Y2 Y3 E50 12.0 30.0 0.03 0.11 0.02 OK
X1 Y3 Y4 ES0 12.0 30.0 0.03 0.11 0.02 OK
X1 Y4 Y5 ES0 12.0 30.0 0.03 0.11 0.02 OK
X1 Y5 Y8 ES0 12.0 36.0 0.51 0.61 0.60 0.60 OK
X2 Y5 Y6 ES0 12.0 10.5 0.00 0.00 0.00 OK
X2 Y6 Y7 ES0 12.0 10.5 0.00 0.00 0.00 OK
X2 Y7 Y8 ES0 12.0 10.5 0.00 0.00 0.00 OK
X4 Y1l Y5 ESO 12.0 45.0 0.62 0.70 0.66 OK
X4 Y5 Y6 ESO 12.0 10.5 0.20 0.28 0.30 OK
X4 Y6 Y7 ESO 12.0 10.5 0.20 0.28 0.30 OK
X4 Y7 Y8 ESO 12.0 10.5 0.28 0.39 0.39 OK
X5 Y5 Y6 ESO 12.0 30.0 0.03 0.11 0.01 OK
X5 Y6 Y7 ESO 12.0 30.0 0.03 0.11 0.01 OK
X6 Y5 Y6 ESO 12.0 30.0 0.02 0.08 0.01 OK
X6 Y6 Y7 ESO 12.0 30.0 0.03 0.11 0.01 OK
X6 Y7 Y8 ESO 12.0 30.0 0.04 0.15 0.02 OK
X7 Y5 Y6 ESO 12.0 21.0 0.06 0.15 0.04 OK
X7 Y6 Y8 ESO 12.0 21.0 0.41 0.58 0.62 OK
X8 Y1l Y5 ESO 12.0 45.0 0.69 0.78 0.73 OK
X8 Y5 Y7 ESO 12.0 21.0 0.50 0.44 0.61 OK
X8 Y7 Y8 ESO 12.0 21.0 0.03 0.10 0.02 OK
X10 Y5 Y8 ESO 12.0 30.0 0.67 0.73 1.08 NG

X12 Y1 Y2 ESO 12.0 30.0 0.03 0.11 0.02 OK
X12 Y2 Y3 ESO 12.0 30.0 0.03 0.11 0.02 OK
X12 Y3 Y4 ESO 12.0 30.0 0.03 0.11 0.02 OK
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(cm) (cm)
X12 Y4 Y5 E50 12.0 30.0 0.03 0.11 0.02 0K
X12 Y5 Y6 E50 12.0 30.0 0.03 0.11 0.02 0K
X12 Y6 Y7 E50 12.0 30.0 0.03 0.11 0.02 0K
X12 Y7 Y8 E50 12.0 30.0 0.03 0.11 0.02 0K
(cm) (cm)
Y1 X1 X2 E50 12.0 21.0 0.05 0.14 0.03 0K
Y1 X2 X3 E50 12.0 21.0 0.05 0.14 0.03 0K
Y1 X3 X4 E50 12.0 21.0 0.05 0.14 0.03 0K
Y1 X4 X5 E50 12.0 21.0 0.05 0.14 0.03 0K
Y1 X5 X6 E50 12.0 21.0 0.05 0.14 0.03 0K
Y1 X6 X7 E50 12.0 21.0 0.05 0.14 0.03 0K
Y1 X7 X8 E50 12.0 21.0 0.05 0.14 0.03 0K
Y1 X8 X9 E50 12.0 21.0 0.05 0.14 0.03 0K
Y1 X9 X11 E50 12.0 21.0 0.19 0.27 0.20 0K
Y1 X11 X12 E50 12.0 21.0 0.05 0.14 0.03 0K
Y2 X1 X4 E50 12.0 24.0 0.17 0.11 0.19 0K
Y2 X4 X8 E50 12.0 24.0 0.30 0.14 0.45 0K
Y2 X8 X12 E50 12.0 24.0 0.24 0.19 0.46 0K
Y3 X1 X4 E50 12.0 24.0 0.17 0.11 0.19 0K
Y3 X4 X8 E50 12.0 24.0 0.30 0.14 0.45 0K
Y3 X8 X12 E50 12.0 24.0 0.24 0.19 0.46 0K
Y4 X1 X4 E50 12.0 24.0 0.17 0.11 0.19 0K
Y4 X4 X8 E50 12.0 24.0 0.30 0.14 0.45 0K
Y4 X8 X12 E50 12.0 24.0 0.24 0.19 0.46 0K
Y5 X1 X4 E50 12.0 24.0 0.17 0.11 0.19 0K
Y5 X4 X6 E50 12.0 24.0 0.02 0.02 0.01 0K
Y5 X6 X7 E50 12.0 24.0 0.01 0.05 0.01 0K
Y5 X7 X8 E50 12.0 24.0 0.00 0.01 0.00 0K
Y5 X8 X12 E50 12.0 24.0 0.24 0.19 0.46 0K
Y6 X1 X4 E50 12.0 24.0 0.17 0.11 0.19 0K
Y6 X4 X6 E50 12.0 24.0 0.02 0.02 0.01 0K
Y6 X6 X7 E50 12.0 24.0 0.00 0.01 0.00 0K
Y6 X7 X8 E50 12.0 24.0 0.00 0.01 0.00 0K
Y6 X8 X9 E50 12.0 24.0 0.00 0.01 0.00 0K
Y6 X9 X10 E50 12.0 24.0 0.00 0.01 0.00 0K
Y6 X10 X11 E50 12.0 24.0 0.00 0.01 0.00 0K
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(cm) (cm)
Y6 X11 X12 ES0 12.0 24.0 0.00 0.01 0.00 OK
Y7 X1 X4 ES0 12.0 24.0 0.17 0.11 0.19 OK
Y7 X4 X6 ES0 12.0 24.0 0.02 0.02 0.01 OK
Y7 X6 X8 ES0 12.0 24.0 0.02 0.02 0.01 OK
Y7 X8 X12 ES0 12.0 24.0 0.24 0.19 0.46 OK
Y8 X1 X2 ES0 12.0 21.0 0.05 0.14 0.03 OK
Y8 X2 X3 ES0 12.0 21.0 0.05 0.14 0.03 OK
Y8 X3 X4 ES0 12.0 21.0 0.05 0.14 0.03 OK
Y8 X4 X5 ES0 12.0 21.0 0.05 0.14 0.03 OK
Y8 X5 X6 E50 12.0 21.0 0.05 0.14 0.03 OK
Y8 X6 X7 E50 12.0 21.0 0.05 0.14 0.03 OK
Y8 X7 X8 E50 12.0 21.0 0.05 0.14 0.03 OK
Y8 X8 X9 ES0 12.0 21.0 0.05 0.14 0.03 OK
Y8 X9 X10 E50 12.0 21.0 0.05 0.14 0.03 OK
Y8 X10 X11 ES0 12.0 21.0 0.05 0.14 0.03 OK
Y8 X11 X12 ES0 12.0 21.0 0.05 0.14 0.03 OK
X1 Y1 Y2 ES0 12.0 24.0 0.02 0.07 0.01 OK
X1 Y2 Y3 ES0 12.0 24.0 0.02 0.07 0.01 OK
X1 Y3 Y4 ES0 12.0 24.0 0.02 0.07 0.01 OK
X1 Y4 Y5 ES0 12.0 24.0 0.04 0.10 0.02 OK
X1 Y5 Y6 ESO 12.0 24.0 0.02 0.07 0.01 OK
X1 Y6 Y7 ESO 12.0 24.0 0.02 0.07 0.01 OK
X1 Y7 Y8 ESO 12.0 24.0 0.02 0.07 0.01 OK
$X3% Y4 Y5 ESO 12.0 15.0 0.06 0.06 0.03 OK
X4 Y1l Y5 ESO 12.0 36.0 0.53 0.52 0.62 OK
X4 Y5 Y6 ESO 12.0 24.0 0.00 0.00 0.00 OK
X4 Y6 Y7 ESO 12.0 24.0 0.00 0.00 0.00 OK
X4 Y7 Y8 ESO 12.0 24.0 0.00 0.00 0.00 OK
X6 Y4 Y5 ESO 12.0 15.0 0.08 0.08 0.04 OK
X6 Y5 Y6 ESO 12.0 12.0 0.00 0.00 0.00 OK
X6 Y6 Y7 ESO 12.0 12.0 0.00 0.00 0.00 OK
X6 Y7 Y8 ESO 12.0 12.0 0.00 0.00 0.00 OK
X8 Y1l Y5 ESO 12.0 36.0 0.60 0.57 0.69 OK
X8 Y5 Y6 ESO 12.0 24.0 0.00 0.00 0.00 OK
X8 Y6 Y7 ESO 12.0 24.0 0.01 0.03 0.00 OK
X8 Y7 Y8 ESO 12.0 24.0 0.00 0.00 0.00 OK
X9 Y4 Y5 ESO 12.0 15.0 0.06 0.06 0.03 OK
X10 Y6 Y7 ESO 12.0 12.0 0.00 0.00 0.00 OK
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(cm) (cm)
X10 Y7 Y8 ES0 12.0 12.0 0.00 0.00 0.00 OK
X11 Y4 Y5 ES0 12.0 15.0 0.06 0.06 0.03 OK
X12 Y1 Y2 ES0 12.0 24.0 0.02 0.07 0.01 OK
X12 Y2 Y3 ES0 12.0 24.0 0.02 0.07 0.01 OK
X12 Y3 Y4 ES0 12.0 24.0 0.02 0.07 0.01 OK
X12 Y4 Y5 ES0 12.0 24.0 0.03 0.09 0.01 OK
X12 Y5 Y6 ES0 12.0 24.0 0.02 0.07 0.01 OK
X12 Y6 Y7 ES0 12.0 24.0 0.02 0.07 0.01 OK
X12 Y7 Y8 ES0 12.0 24.0 0.02 0.07 0.01 OK
(cm) (cm)

Y2 X1 $X3% E50 12.0 12.0 0.14 0.15 0.18 OK
Y2 $X3$ - X4 ES0 12.0 12.0 0.14 0.15 0.18 OK
Y2 X4 X6 ES0 12.0 12.0 0.26 0.21 0.42 OK
Y2 X6 X8 ES0 12.0 12.0 0.26 0.21 0.42 OK
Y2 X8 X9 ES0 12.0 12.0 0.06 0.10 0.05 OK
Y2 X9 X11 ES0 12.0 12.0 0.26 0.21 0.42 OK
Y2 X11 X12 ES0 12.0 12.0 0.06 0.10 0.05 OK
Y3 X1 $X3% ES0 12.0 12.0 0.14 0.15 0.18 OK
Y3 $X3$ - X4 ES0 12.0 12.0 0.14 0.15 0.18 OK
Y3 X4 X6 ESO 12.0 12.0 0.26 0.21 0.42 OK
Y3 X6 X8 ESO 12.0 12.0 0.26 0.21 0.42 OK
Y3 X8 X9 ESO 12.0 12.0 0.06 0.10 0.05 OK
Y3 X9 X11 ESO 12.0 12.0 0.26 0.21 0.42 OK
Y3 X11 X12 ESO 12.0 12.0 0.06 0.10 0.05 OK
Y4 X1 $X3% ESO 12.0 12.0 0.11 0.12 0.13 OK
Y4 $X3$ - X4 ESO 12.0 12.0 0.11 0.12 0.13 OK
Y4 X4 X6 ESO 12.0 12.0 0.19 0.15 0.31 OK
Y4 X6 X8 ESO 12.0 12.0 0.19 0.15 0.31 OK
Y4 X8 X9 ESO 12.0 12.0 0.05 0.08 0.04 OK
Y4 X9 X11 ESO 12.0 12.0 0.19 0.15 0.31 OK
Y4 X11 X12 ESO 12.0 12.0 0.05 0.08 0.04 OK

55 [ X1 $X3% ESO 12.0 12.0 0.07 0.08 0.09 OK

5.5 | $X3% - X4 ESO 12.0 12.0 0.07 0.08 0.09 OK

5.5 | X4 X6 ESO 12.0 12.0 0.13 0.10 0.21 OK

5.5 | X6 X8 ESO 12.0 12.0 0.13 0.10 0.21 OK

5.5 | X8 X9 ESO 12.0 12.0 0.03 0.05 0.03 OK
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(cm) (cm)

55 [ X9 -Xl1 ES0 12.0 12.0 0.13 0.10 0.21 OK

5.5 [ X11 - X12 ES0 12.0 12.0 0.03 0.05 0.03 OK
Y5 X1 - $X3% ES0 12.0 12.0 0.11 0.12 0.13 OK
Y5 $X3$ - X4 ES0 12.0 12.0 0.11 0.12 0.13 OK
Y5 X4 - X6 ES0 12.0 12.0 0.19 0.15 0.31 OK
Y5 X6 - X8 ES0 12.0 12.0 0.19 0.15 0.31 OK
Y5 X8 - X9 ES0 12.0 12.0 0.05 0.08 0.04 OK
Y5 X9 - X1 ES0 12.0 12.0 0.19 0.15 0.31 OK
Y5 X11 - X12 ES0 12.0 12.0 0.05 0.08 0.04 OK
Y6 X1 - $X3% E50 12.0 12.0 0.14 0.15 0.18 OK
Y6 $X3$ - X4 E50 12.0 12.0 0.14 0.15 0.18 OK
Y6 X4 - X6 E50 12.0 12.0 0.26 0.21 0.42 OK
Y6 X6 - X8 ES0 12.0 12.0 0.26 0.21 0.42 OK
Y6 X8 - X9 E50 12.0 12.0 0.06 0.10 0.05 OK
Y6 X9 - X1 ES0 12.0 12.0 0.26 0.21 0.42 OK
Y6 X11 - X12 ES0 12.0 12.0 0.06 0.10 0.05 OK
Y7 X1 - $X3% ES0 12.0 12.0 0.14 0.15 0.18 OK
Y7 $X3$ - X4 ES0 12.0 12.0 0.14 0.15 0.18 OK
Y7 X4 - X6 ES0 12.0 12.0 0.26 0.21 0.42 OK
Y7 X6 - X8 ES0 12.0 12.0 0.26 0.21 0.42 OK
Y7 X8 - X9 ESO 12.0 12.0 0.06 0.10 0.05 OK
Y7 X9 -X11 ESO 12.0 12.0 0.26 0.21 0.42 OK
Y7 X11 - X12 ESO 12.0 12.0 0.06 0.10 0.05 OK
X1 Y1 -Y2 ESO 12.0 12.0 0.03 0.05 0.02 OK
X1 Y2 -Y3 ESO 12.0 12.0 0.03 0.05 0.02 OK
X1 Y3 -Y4 ESO 12.0 12.0 0.03 0.05 0.02 OK
X1 Y4 - 5.5 ESO 12.0 12.0 0.01 0.02 0.00 OK
X1 5.5- Y5 ESO 12.0 12.0 0.01 0.02 0.00 OK
X1 Y5 - Y6 ESO 12.0 12.0 0.03 0.05 0.02 OK
X1 Y6 - Y7 ESO 12.0 12.0 0.03 0.05 0.02 OK
X1 Y7 -Y8 ESO 12.0 12.0 0.03 0.05 0.02 OK
X12 Yi -Y2 ESO 12.0 12.0 0.03 0.05 0.02 OK
X12 Y2 -Y3 ESO 12.0 12.0 0.03 0.05 0.02 OK
X12 Y3 -Y4 ESO 12.0 12.0 0.03 0.05 0.02 OK
X12 Y4 - 5.5 ESO 12.0 12.0 0.01 0.02 0.00 OK
X12 5.5- Y5 ESO 12.0 12.0 0.01 0.02 0.00 OK
X12 Y5 -Y6 ESO 12.0 12.0 0.03 0.05 0.02 OK
X12 Y6 - Y7 ESO 12.0 12.0 0.03 0.05 0.02 OK
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(cm)

(cm)

X12

Y7

- Y8

ES0

12.0

12.0

0.03

0.05

0.02

OK
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3.3.2.
X10 Y5 - Y8
ws(Y6 - Y8 ) =2400 (N/m) — 24.00 (N/cm)
P2 P3 P2 = 6730.0( ) 900.0( )  5330.0( )y (V)
¢ﬁv\(wﬁV&(Nrwﬂvx P3 =  5700.0( ) 0.0( )  4300.0( Yy (V)
E50 12>30 (cm), Cf = 1.0
100 | 100 | 100 10= 27000.00 (cm*), Z0= 1800.00 (cm®), AeO= 360.00 (cm?)
" a0 I = 21600.00 (cm*), Z = 1440.00 (cm®), Ae = 288.00 (cm?)
Fb = 24.00 (N/mm?), Fs = 1.80 (N/mm?), Eb = 5000 (N/mm?)
Mmax(N cm) Md2 Md3 QL(N) QR(N) SO,0"=<2.0 (cm)
ws ( ) 213333 213333 213333 1600 3200 0.215 0.430
P2 ( ) 448667 448667 224333 4487 2243 0.302 0.478
P3 ( ) 380000 190000 380000 1900 3800 0.255 0.385
P2 ( ) 60000 60000 30000 600 300 0.040 0.081
( ) 852000 817667 7987 9243 0.772 1.293
( ) 60000 30000 600 300 0.040 0.081
(  w-) 0 0 0 0 0.000
¢ w-) 0 0 0 0 0.000
(  wa) 0 0 0 0 0.000
( wa) 0 0 0 0 0.000
( e-) 0 0 0 0 0.000
( e-) 0 0 0 0 0.000
( es) 0 0 0 0 0.000
( es) 0 0 0 0 0.000
+0.00 852000 817667 7987 9243 0.772 1.293
+1.00 912000 847667 8587 9543 0.812
+0.00 + W 852000 817667 7987 9243 0.772
+0.00 + We 852000 817667 7987 9243 0.772
+0.00 + W 852000 817667 7987 9243 0.772
+0.00 + We 852000 817667 7987 9243 0.772
+0.00 + e 852000 817667 7987 9243 0.772
+0.00 + e 852000 817667 7987 9243 0.772
+0.00 + e 852000 817667 7987 9243 0.772
+0.00 + e 852000 817667 7987 9243 0.772
fb = 1.1><Fb 3 = 8.800, fs = 1.1><Fs 3 = 0.660 (N/mm?)
Mmax/(Z>=<fb>CfF) = 852000/(1440.0>=<8.800>=<1.0) = 0.67 1.0 0K
(ax=<Qmax)/(Ae=<fs) = (1.5%<9243)/(288.0><0.660) = 0.73 1.0 OK
S = 0.772 (cm) 2.00 OK
= 1/389 17250 OK
O"=<2.0 = 1.293 (cm) = 1/232 17250 NG 11111
fb = 2.0<Fb 3 = 16.000, fs = 2.0>xFs 3 = 1.200 (N/mm?)
Mmax/(Z><fb>Cf) = 852000/(1440.0>=<16.000><1.0) = 0.37 1.0 0K
(ax=<Qmax)/(Ae=<fs) = (1.5%<9243)/(288.0>1.200) = 0.40 1.0 OK
S = 0.772 (cm)  4.00 OK
= 1/389 17150 OK
b = 2.0<Fb 3 = 16.000, fs = 2.0>xFs 3 = 1.200 (N/mm?)
Mmax/ (Z><fb>Cf) = 852000/(1440.0>=<16.000><1.0) = 0.37 1.0 0K
(ax=<Qmax)/(Ae=<fs) = (1.5%<9243)/(288.0>1.200) = 0.40 1.0 OK
S = 0.772 (cm) 4.00 OK

17389 17150 OK

fb = 0.8x2.0x<Fb 3 = 12.800, fs = 0.8=2.0x<Fs 3 = 0.960 (N/mm?)
Mmax/(Z><fb>=<CF) = 912000/(1440.0><12.800><1.0) = 0.49 1.0 OK
(or=<Qmax)/(Aex<fs) = (1.5>9543)/(288.0><0.960) = 0.52 1.0 OK
S 0.812 (cm)  4.00 OK
17369 1/150 OK
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5.
5.1.
TN = Vs < Bi - N
N -
Vs
Bi
: Bi =0.8 : Bi =0.5
Bi N (k\)[ Vs (kN) [ TN (kN) N (kN) TN® (kN)
Y1l X - | 0.8 2.31 17.25 11.49
y T 0.8 17.25 11.49
Xx -] 0.8 5.49 44 .42 30.05
y T 0.8 35.75 23.11
Y2 y L 0.5 3.54 17.25 5.08
y L 0.5 8.34 35.75 9.53
Y4 y T 0.5 3.54 17.25 5.08
y T 0.5 8.34 35.75 9.53
Y5 y L 0.5 3.54 17.25 5.08
Xx -] 0.8 13.91 27.18 7.83
y L 0.8 30.00 10.09
Y7 y T 3.54 17.25 5.08
Y8 X - | 0.8 2.31 17.25 11.49
y L 0.8 17.25 11.49
Xx -] 0.8 11.62 46.16 25.31
y L 0.8 5.75 -7.02
Y1 X «| 0.5 2.42 17.25 6.20
X «] 0.5 5.92 46.16 17.16
X2 Y5 4.16 28.91 10.29
X2 Y8 2.42 17.25 6.20
5.92 46.16 31.01
X3 Y1 2.42 17.25 6.20
5.92 35.75 11.96
X3 Y8 2.42 17.25 6.20
5.92 46.16 31.01
X4 Y1 9.94 10.24 -4.82
- 23.11 10.41 -17.91
T 24.12 -11.05




Bi N kN [ Vs (kN) [ TN (k) NT kN [ TNT k)
X4 Y5 1| 0.5] 10.44] 1024 -5.32
v o5 23.96] 24.12[ -11.90
X4 Y6 + | 0.5 7.00[ 23.13 4.56
X4 Y8 <[ 0.5 2.42|  17.25 6.20
[ 0.8 6.98| 46.16[ 29.94
1| 0.8 23.13|  11.52
X5 Y1 <[ 0.5 2.42|  17.25 6.20
<[ 0.5 8.88| 44.42| 13.33
X6 Y6 [ 0.5 4.25]  23.13 7.31
X7 Y1 [ 0.5 2.42|  17.25 6.20
[ 0.5 8.88| 35.75 9.00
X7 Y5 + | 0.5 5.45[  23.13 6.12
X7 Y6 <[ 0.5 6.08[ 23.13 5.49
1| 0.5 23.13 5.49
X8 Y1 +[ 0.5] 10.82] 10.24[ -5.69
[ 0.5 24.97 8.67| -20.63
+| 0.5 24.12| -12.91
X8 Y5 v o5 11.78] 10.24[  -6.66
1| o5 30.95[ 24.12[ -18.89
X8 Y7 + | 0.5 9.06[ 23.13 2.51
X8 Y8 [ 0.5 2.42|  17.25 6.20
[ 0.5 6.29| 46.16[ 16.79
1| 05 23.13 5.28
X9 Y1 <[ 0.5 3.63| 17.25 4.99
<[ 0.5 8.88| 46.16[ 14.20
X9 Y8 <[ 0.5 2.42|  17.25 6.20
<[ 0.5 5.2 46.16[ 17.16
X10 Y8 [ 0.5 2.42|  17.25 6.20
[ 0.5 14.47 17.25] -5.85
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Bi N kN [ Vs (kN) [ TN (k) NT kN [ TNT k)
X11 Y1 x - | 0.5 3.63] 17.25 4.99
x - | 0.5 8.88| 46.16[ 14.20
X11 Y8 x - | 0.5 6.77| 28.91 7.69
X12 Y1 x | 0.8 2.31|  17.25[ 11.49
x | 0.8 5.49( 44.42|  30.05
X12 Y2 y 1| 0.5 4.13]  17.25 4.50
y [ 0.5 9.58| 35.75 8.30
X12 Y4 y v| 0.5 4.13]  17.25 4.50
y L[ 0.5 9.58| 35.75 8.30
X12 Y5 y 1| 0.5 4.13]  17.25 4.50
y 1| 0.5] 13.16] 35.75 4.72
X12 Y6 y v]| 0.5 2.37|  17.25 6.25
y L[ 0.5 8.19| 35.75 9.69
X12 Y7 y 1| 0.5 4.13]  17.25 4.50
y +[ 0.5 9.98[ 35.75 7.90
X12 Y8 x «| 0.8 2.31|  17.25| 11.49
y 1| 0.8 17.25|  11.49
x «| 0.8 5.01 44.42]  29.63
y 1| 0.8 35.75|  22.69
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kN
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——e *~— — ° . ° *~— — *~— — —
\
5.08 4.%0
2 ° ° ° %
6.25
. ° . ° . ° ° . T
\
5.08 4.%0
o ° %

5.28

5.08

X1

| |
| |
\ \
| |
| |
| |
\ \
| |
| |
| | |
e e e L ep e L 4 o g

4.50

4.%0

4.99

X2 X3 X4 X5 X6 X7 X8 X9 X10 X11 X12



Y8

Y7

Y6

y5.5

Y5

5.5

Y4

Y3

Y2

Y1

152

kN
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kN
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\
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3.7.
3.7.1.
0:
>w
- XY
>w/2 (=wxL)
(kN) (m) 0o (kN m) /(2>Mo)
265.53 | 11.00[ 53.57>=6.34 +
48.01>=<3.59 = 511.99 5.70
265.53 7.00[ 53.57>=6.34 +
48.01>=<3.59 = 511.99 3.63
>w/2 (=wxL)
(kN) (m) 0 (kN m) /(2>Mo)
265.53 | 11.00[ 10.91>=<7.38 + 12.85><4.97 +
12.25><4.97 + 14.51>=<2.12 = 235.80 12.39
265.53 7.00( 19.74><7.38 + 20.02>=4.97 +
19.05><4.97 + 22.58>=<2.12 = 387.30 4.80
3.7.2.
Si =(hi/120) < (Qi /Pi)
ysi = hi / Ji
VySi : hi : i
i: (kN)
i (kN)
hi(m) Qi/Pi ( ) Si (cm) YSi
2.750 - 0.776 1.78 154.6 150 OK
- 0.776 1.78 154.6 150 OK
T 0.727 1.67 165.1 150 OK
1 0.727 1.67 165.1 150 OK
2.950 - 0.951 2.34 126.2 150
- 0.951 2.34 126.2 150
T 0.953 2.34 126.0 150
1 0.953 2.34 126.0 150

1.0 OK

1.0 OK

1.0 OK

1.0 OK
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3.9.
E70
L =105 (mm)
Fc = 20.7 (N/mm?)
d =12 (mm)
F = 235.0 (N/mm)
My = (F < d®) /7 6 = 67680.0 (N mm)
C =@ /L) <@ = M)/ (Fc < d) =0.314
q:échxde = 8200.4 (N/ )
Pa=(2/3) < q = 5466.9 (\/ )
(kN) (kN)
Y1 - 46.047 9 23.430 5
- 45.941 9 23.376 5
Y5 - 8.842 2 4.376 1
- 9.413 2 4.659 1
Y6 - 7.621 2 3.748 1
- 7.632 2 3.753 1
Y8 - 39.070 8 18.968 4
- 38.594 8 18.734 4
X1 T 12.468 3 10.155 2
1 12.470 3 10.157 2
X4 T 33.545 7 27.092 5
1 33.547 7 27.095 5
X7 T 7.455 2 5.968 2
1 7.455 2 5.968 2
X8 T 25.156 5 20.076 4
1 25.155 5 20.075 4
X12 T 22.956 5 18.086 4
1 22.953 5 18.082 4
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